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UPCCL Junior Engineer Trainee
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Topic:- UPPCL_Feb18_JETE_Set01_TECH

1) The size of a synchronous motor decreases with the increase in:-

3H giE F WY TF JeaF1iad AT F HHR A FA! gid! ¢:- [Question ID = 1891]

1. Speed / a1fa [Option ID = 7867]

2. All of these / T3ft faseq [Option ID = 7868]

3. Flux density/ eldd T "dlcd [Option ID = 7865]

4, Horse power rating/ 312aerfed IfeeT [Option ID = 7866]

Correct Answer :-
 Flux density/ Welerd &l gsica [Option ID = 7865]

2) If the area, current and number of turns of an AC circuit are doubled, then the new inductance
will be:-

af &1, o ik ol wfife & gwEe A T SN 8 ST 8, d 741 SR fRde glem? [Question ID = 1849]

1. Twice the former / ®I#X & gal=lm [Option ID = 7697]

2. Four times the former / ¥R & =ef=T [Option ID = 7698]
3. Same / AT [Option ID = 7700]

4. Half the former / WI&R & 3TeI [Option ID = 7699]

Correct Answer :-
« Four times the former / ®I#X & BT [Option ID = 7698]

3) If the cathode of Thyristor is made +ve with respect to the anode & no gate current is applied
then:-

I arafees &1 H4l8, Tals & Feaetr i FSRIeAS a1 &1 1 3R F1§ AT URT g 7g1 A A0 q4:-
[Question ID = 1811]

1. Only the middle junction is forward biased / shael sT<r &I IS MY & 3R FeHT gam & [Option ID = 7546]
2. Only the middle junction is reversed biased / sdet & &I Sitg dIes gt gam g [Optlon ID = 7548]

3. All the junctions are forward biased / @3fr Silg 31T & 3R g gu %* [Opt|on ID = 7545]

4. All the junctions are reversed biased / T S8 4 &1 3R 5!31? g & [Option ID = 7547]

Correct Answer :-
+ Only the middle junction is forward biased / @der &< T SIS 3TaT T 31X T ga3m & [Option ID = 7546]

4) If the total number of slots in a D.C machine is 25 and the total number of poles is 5, then what is
the coil span of the machine?



"afe DC weher # For 25 Favew ¥ 3R For 5 Aer &, o Ffe H F3 373 7 @?” [Question ID = 1781]

1. 5 [Option ID = 7427]
2. 30 [Option ID = 7428]
3. 20 [Option ID = 7425]
4. 125 [Option ID = 7426]

Correct Answer :-
o 5 [Option ID = 7427]

5) Which of the following outlines the features of D.C welding over A.C welding?

frafaf@a & & Far vl afeser ux il afeser i girenst & wovar Fware?
[Question ID = 1861]

1. 1. The cost of equipment is higher. / "1. 39&0T T ARTT 3fAF ¢

2. Tt is less safe as no load voltage is high. / 2. Ig % &I & Fifeh Pl AIS dlecsT 3od oTal ¢ |

3. The efficiency is higher due to the absence of rotating parts. / 3. Egﬁ?-r 1T [Option ID = 7746]
2. 1. The cost of equipment is higher / "1. 39eoT FI ST I7TAF &

2. Tt is safer. / 2. Ig gf&d &1

3. The efficiency is higher due to the absence of rotating parts. / 3. €UTeT #rll & 31T & HROT GaTar 31few g1 "

[Option ID = 7745]

3. 1. The cost of equipment is cheaper. / "1. 39T FT AFTT TET &1

2. It is less safe as no load voltage is high. / 2. Ig & &I & Fdifeh FIS AIs dlecsT 3od A8l ¢

3. The efficiency is higher due to the absence of rotating parts. / 3. EQJ‘IH #TIT [Option ID = 7748]
4. 1. The cost of equipment is cheaper. / "1. 3UeROT HI ST FHA gl

2. It is less safe as no load voltage is high. / 2. &g %& Q&I § #4ifeh IS oS dlecsT 3o e ¢

3. The efficiency is lower due to the presence of rotating parts. / 3. ‘q}ﬁ?r TNt [Option ID = 7747]

Correct Answer :-

o 1. The cost of equipment is cheaper. / "1. 3UHIUT ST ARTT TET ¢
2. Tt is less safe as no load voltage is high. / 2. g8 %# gRfara § #ifh H1S oIS Aot 3= 781 ¢
3. The efficiency is higher due to the absence of rotating parts. / 3. q\Ui?r &1 [Option ID = 7748]

6) Which of the following will happen if the thickness of refractory wall of furnace is increased?

ot & & T o I o1 Y 3Ter Wk AR A AerS ¢ ST &2
[Question ID = 1892]

1. Energy consumption will decrease / FaiT i @I & F#T g1 [Option ID = 7872]

2. Temperature inside the furnace will fall / 878 & 3ieX AT9ATT IR T3 [Option ID = 7870]

3. Temperature on the outer surface of furnace walls will drop / $T8Y & 37eX aT9ATT IR ST [Option ID = 7871]
4. Heat loss through furnace wall will increase / $78T T &laR & AT gifel §7¢ STl [Option ID = 7869]

Correct Answer :-
« Temperature on the outer surface of furnace walls will drop / 33T & 3ieX a9 X ST [Option ID =
7871]




Calculate the energy efficiency when the input energy is 3000J and output energy is 1000J.

ST G&TCT Y 0T FI ST FAYE ST 3000] § 3R 3m3eYe Fit 10001 1 [Question ID = 1843]

1. 0.5 [Option ID = 7673]
2. 0.03 [Option ID = 7676]
3. 0.3 [Option ID = 7675]
4. 0.333 [Option ID = 7674]

Correct Answer :-
» 0.333 [Option ID = 7674]

8) A circuit breaker must be equipped for remote operation with which of the following?

wF wfihe s fawT & ¥ 5w & ary RaAle sitavers & e gafosa far smem @ifge? " [Question ID = 1815]

1. Inverse time trip / 3e1¢T FAT ITaT [Option ID = 7561]
2. None of these / 378 & @15 8 s¥&T [Option ID = 7564]
3. Shunt trip / 27 ITET [Option ID = 7563]

4, Time-delay trip / @#J-fdei& T [Option ID = 7562]

Correct Answer :-
e Shunt trip / ef€ ImET [Option ID = 7563]

9) The region has the highest area in the transistor.

aiforer & &1 FT a4 3AF 9% ¢1 [Question ID = 1876]

1. Collector / @amgs [Option ID = 7807]

2. Base / 9 [Option ID = 7805]

3. Base-emitter / S|-UfHeX [Option ID = 7808]
4, Emitter / Tf#eX [Option ID = 7806]

Correct Answer :-
« Collector / Hamgs [Option ID = 7807]

10) Circuit breaker is device that is used for protection of circuit. Circuit breaker is an example of:-

wffre aa el Barsw & St wfFe At guan & e suter R sar 8| affe 397 FT ua 3e1e0T #47 5:- [Question
ID = 1800]

1. Arresters / 3R [Option ID = 7502]

2. Conductor / @3&eX [Option ID = 7501]

3. None of these / 33 & @15 8ff A&T [Option ID = 7504]
4, Switchgear / Raafrax [Option ID = 7503]

Correct Answer :-
« Switchgear / EaafImX [Option ID = 7503]

11) For Modern alternator, what will be the specific value of SCR?

amyfae sifeeteiet ¥ fAT, SCR 1 fafdrse ATt 71 §1om? [Question ID = 1775]



1. 3 /2 [Option ID = 7402]
2. 1 /6 [Option ID = 7404]
3.1 /2 [Option ID = 7401]
4. 3 /5 [Option ID = 7403]

Correct Answer :-
e 1/2 [Option ID = 7401]

12) To save energy during braking, which type of braking is used?

AT &F She, It T F AT, TR TR Y T F1 AT Far Smar
[Question ID = 1863]

1. Regenerative / 9eTafsit [Option ID = 7754]
2. Plugging / af3ar [Option ID = 7753]

3. Dynamic / a1faefter [Option ID = 7755]

4, All of these / @3t fdsed [Option ID = 7756]

Correct Answer :-
+ Regenerative / =Tgfsil [Option ID = 7754]

13) For the protection of power station buildings against direct strokes the requirements are:-

"W FF F BaTe et 8 F gl Ay guan & fav et smaeasar 8? [Question ID = 1810]

1. None of these / 3578 & g off F7gT [Option ID = 7544]

2. Interception and conduction / 31aRTersT 3R FagsT [Option ID = 7542]

3. Interception, conduction and dissipation /3TaR1¢Ie, TTelsT 3 3719ead [Option ID = 7543]

4, Interception, conduction, dissipation and reflection / 37a&Ie, YdTgehced, 379edY 31X WiddeT [Option ID =
7541]

Correct Answer :-
« Interception, conduction and dissipation /37aR1el, aTelsT 3R 319ead [Option ID = 7543]

14) Which among the following is termed as the drift velocity of the charge carrier per unit electric
field?

fmafaf@a & & #la @1 vl aes gfa gfae fsrelt & it 951 a1 & w7 # g1 S1ar 82 [Question ID = 1806]

1. Resistivity / 9faRierear [Option ID = 7527]

2. Current density / &IRT geicd [Option ID = 7528]

3. Mobility / arfarefrerdar [Option ID = 7526]

4. Relative permittivity / ET9&T 3eJHTcraT [Option ID = 7525]

Correct Answer :-
« Mobility / arfaefrerar [Option ID = 7526]

15) Which among the following oscillator's output depends on nonlinear characteristics of the
circuit?



frafaf@a & & Fla § e F ar3eye wfke Fr i ey RArdvant w ek F3ar 8?2 [Question ID =
1778]

1. Relaxation oscillator / RelaraereT 3&elex [Option ID = 7416]
2. Colpitts oscillator / @rerdicd 3iidTerex [Option ID = 7413]

3. Wien Bridge oscillator / et fsisT 3idTerex [Option ID = 7414]
4, Crystal oscillator / forEeer 3idTereY [Option ID = 7415]

Correct Answer :-
« Relaxation oscillator / Relearere 3f&Telex [Option ID = 7416]

16) Which among the following configuration has both current and voltage gain?

Arafaf@d Reara & ¥ Sia- i ary 3iv aeest aner gt 82 [Question ID = 1808]

1. CC [Option ID = 7535]
2. Both CC and CB / g=ir CC 3iR CB [Option ID = 7536]
3. CB [Option ID = 7534]
4. CE [Option ID = 7533]

Correct Answer :-
e CE [Option ID = 7533]

17) Which among the following is related to unsymmetrical faults?

e & @ Fa1 AR gIv § @aftia 82 [Question ID = 1804]

1. Double line-to-ground fault / SsTeT STS=1-¢-aMM33 &% [Option ID = 7518]
2. All of these / T8fr fadsed [Option ID = 7520]

3. Single line-to-ground fault / f¥arer =7-g-a11335 &% [Option ID = 7519]
4. Line-to-line fault / *T$=-g-aTg+T &% [Option ID = 7517]

Correct Answer :-
o All of these / @Y faseT [Option ID = 7520]

18) Which function is used to find the probability of an electron existing as a function of energy
level?

Fol T/ & T ARG & T # AlST SAFIT 1 HHGAT 1 @l & fw FI-F H1F 7 39200 fFam rar 872
[Question ID = 1807]

1. Gauss / 3itsT [Option ID = 7531]

2. Geometric distribution / SaTfAT faaxoT [Option ID = 7529]
3. Fermi-Dirac / w#T-f331& [Option ID = 7532]

4, Cumulative distribution / Tt faaxoT [Option ID = 7530]

Correct Answer :-

o Fermi-Dirac / w&T-f33m@ [Option ID = 7532]

19) Select the dielectric constant of Silicon.

RATAPIA & HAEF 3Tl FT TIT HY|



[Question ID = 1767]

1. 11.7 [Option ID = 7369]

2. 10 [Option ID = 7371]

3. 0.00105 [Option ID = 7372]
4. 35 [Option ID = 7370]

Correct Answer :-
e 11.7 [Option ID = 7369]

20) Which configuration in Bipolar Junction Transistor is also known as Voltage follower circuit?

gfarert Sierere giforeet # Fi & R F Aieds srqardt afdhe & w9 & ot Srar Sirar 82 [Question ID = 1809]

1. Common Base / @id & [Option ID = 7538]

2. Common Collector / i#sT seldreX [Option ID = 7537]
3. Common Emitter / f&sT T#eX [Option ID = 7539]

4, None of these / 318 & 15 8T 18T [Option ID = 7540]

Correct Answer :-
« Common Collector / F#sT sheleel [Option ID = 7537]

21) The binary code of [((10.625)) _10 is:-

[(10.625)) _10 & ar81{l F15 F4T &2 [Question ID = 1837]

1. (1010.101)_2 / (1010.101)_2 [Option ID = 7649]
2. (1010.100)_2 / (1010.100)_2 [Option ID = 7651]
3.(1010.111)_2 / (1010.111)_2 [Option ID = 7652]
4. (1010.010)_2 / (1010.010)_2 [Option ID = 7650]

Correct Answer :-
e (1010.101)_2/ (1010.101)_2 [Option ID = 7649]

22) Steam engine is based on which of the following thermodynamic cycles?

1Y S AR d ASIAS I 7 & fFd 9T 3meRa 82 [Question ID = 1883]

1. Rankine cycle / ¥&T3sT T [Option ID = 7835]
2. Brayton cycle / siceT T [Option ID = 7833]
3. Stirling cycle / Tefeier Tsh [Option ID = 7836]
4, Carnot cycle / @T=fe g [Option ID = 7834]

Correct Answer :-
« Rankine cycle / {8+t Ish [Option ID = 7835]

23) For effective turning off of the SCR after the anode current has reached zero value,

TS URT & YT AT TF g9 ST & 16, THHIAR H 931 alis § 95 7@ F AT _| [Question ID = 1826]
1. None of these / 378 & is 8t & [Option ID = 7608]



2. Chargers are removed by applying reverse anode-cathode voltage / Ra¥ Taits-F2s e am\%’lﬁ ¥ TR
f¥epTer foT ST & [Option ID = 7606]

3. Chargers are injected by applying reverse anode-cathode voltage / Ra¥l Tails-$2ls dledst o] a3 & faw
ATel ST9MT ST &. [Option ID = 7605]

4. Chargers are injected by applying gate signal / 3 f&sTer @] = { TS 9T ST §. [Option ID = 7607]

Correct Answer :-

« Chargers are removed by applying reverse anode-cathode voltage / Ra® Tels-3UTs dledst oF] &l § AToR
f¥prer fGU STy § [Option ID = 7606]

24) Why regenerator use in gas turbine power plant?

A earsa Rsrel T H Reiiex F1 sE3ATer 41 71 SI1a1 82 [Question ID = 1793]

1. To produce extra heat / 31faRed € &1 3cuTea St & fT [Option ID = 7474]

2. To produce high pressure in chamber / WsX # 3T gaTd dTel & folw [Option ID = 7475]

3. To produce high temperature / 3T ATIHTA FT 3cUTeT e & ol [Option ID = 7476]

4, To recover heat from exhaust gases / e 34T & glc Rehax et o foIw [Option ID = 7473]

Correct Answer :-

« To recover heat from exhaust gases / =& 31T & gie Repax Xt & forw [Option ID = 7473]

25) Identify the ways by which the cost of power generation can be reduced?

P aF ¥ Rsrell 3caTesT Y AT A & Fhal 82
[Question ID = 1862]

1. 1. Reduce the amount of investment in the plant. / "1. TI & fAaer & AET HF
2. Reduce power generation to match costs. / 2. @rdl &I 9 & & oI fasTell 3curest &a &Y| " [Option ID =
7749]

2. 1. Reduce the amount of investment in the plant. / "1. T & fder $r AT HF HL
2. Reduce the number of men employed in the plant. / 2. 2% # @215 qet & @&dr & #X| " [Option ID =
7750]

3. 1. Choosing equipment that is cheaper though it may not be efficient. / "1. ag 39=or gﬁr S FEST ¢ gTelifer Ig
R LT BTl &
2. Reduce the cost of labour and fuel. / 2. s 3R St & am9Td & HY| " [Option ID = 7752]

4. 1. Select the station as reduce cost of fuel, labour, etc. / "1. $4=T, 53 37fe FT ARTT FH I F AT TEAT FHT TIT
F|
2. Produce minimum power at any given point of time. / 2. f&T 8f foig o #geAca fstely 1 3cdreeT #31 " [Option
ID = 7751]

Correct Answer :-

« 1. Reduce the amount of investment in the plant. / "1. T3 #& fAger $r AT F:7 FI
2. Reduce the number of men employed in the plant. / 2. &7 # foaifsia qesit T @&ar &# #{| " [Option ID =
7750]

26) What are the gates needed to make a half adder circuit?

T TS Aihe oot & fAw #19-F A 3maeas §2 [Question ID = 1831]

1. EX-OR gate and AND gate / EX-OR 3 3R AND 3l [Option ID = 7625]



2. EX-OR gate and OR gate / EX-OR 31 3R OR 31 [Option ID = 7628]
3. EX-NOR gate and NAND gate / EX-NOR 3t 3ik NAND 31 [Option ID = 7626]
4. EX-NOR gate and NOR gate / EX-NOR 3t 3Rk NOR 3¢ [Option ID = 7627]

Correct Answer :-
« EX-OR gate and AND gate / EX-OR 31 3R AND 3I€ [Option ID = 7625]

27) What will be the rotation speed of a 3-phase, 4-pole, 50 Hz synchronous motor, if the frequency
number of poles and load torque is halved?

3R et Y Irgfea wean 3R als <& i e FT Rar s &t 3-%9, 4-91, 50 & deadiias Al A guie
arfa &1 @19N? [Question ID = 1889]

1. 3000 RPM / 31R€Tws [Option ID = 7858]
2. 750 RPM / 31Rdua [Option ID = 7860]

3. 6000 RPM / 37RYIT# [Option ID = 7857]
4. 1500 RPM / 31RYIT# [Option ID = 7859]

Correct Answer :-
e 1500 RPM / 3RAIT# [Option ID = 7859]

28) Welding generator can produce

AfesT ST T 3cUTeT HT HHhaT 8|
[Question ID = 1772]

1. Both AC and DC / al=it AC 3iR DC [Option ID = 7391]
2. DC only / 3ael DC [Option ID = 7390]
3. AC only / &aer AC [Option ID = 7389]
4, None of these / 3181 & ShIg 8t F&T [Option ID = 7392]

Correct Answer :-
« Both AC and DC / &<t AC 3R DC [Option ID = 7391]

29) Water is decomposed into hydrogen and oxygen by means of an electric current by the method
of:-

st 1 Raftr qawr faya vare & wreas @ gsgie 3T itawere 7 el w frafee frar s 8-
[Question ID = 1860]

1. Electrolysis / Seigiferi@a [Option ID = 7743]
2. Electric heating / Seifdea §Ifear [Option ID = 7741]

3. Electroplating / Selergiceifear [Option ID = 7742]
4, None of these / 35137 & 15 8t igT [Option ID = 7744]

Correct Answer :-

o Electrolysis / Selergitartad [Option ID = 7743]



Which principle type of turbines is used in hydroelectric power station?

TESEAFCH UTay T F 5 YFR F Xa1ST &7 39ANT fF47 571ar §2 [Question ID = 1786]

. None of these / 378 & &1s 8 T [Option ID = 7448]

. Impulse type / 31391 &7 YR [Option ID = 7445]

. Both Impulse type and Reaction type / @l=ir 31Ta9T &7 bR 3R 9fafshar g [Option ID = 7447]
. Reaction type / 9fafshar W [Option ID = 7446]

A WN -

Correct Answer :-
« Both Impulse type and Reaction type / Gl=ir 3Td9T T YR 3R gfafehar g [Option ID = 7447]

31) A device, which detects the fault and supplies information to the breaker for circuit interruption
is called:-

TF YT, AT Q1Y T qaT dar § 3’ wfhe Tmae & e 391 ) ga@en &1 § I 3871 a1 #7471 §2 [Question ID
= 1801]

1. Circuit breaker / &iffhe s [Option ID = 7505]
2. Arrester / 3EeX [Option ID = 7506]

3. Conductor / @3&eX [Option ID = 7508]

4, Relay / Rt [Option ID = 7507]

Correct Answer :-
« Relay / Rer [Option ID = 7507]

32) Usually, diesel power station is used where demand of power is

AR IR, ST ITaT FEUT HT SEAAT AT ST § STET G Y A9r ¥| [Question ID = 1790]

1. Very high / Sgd 3T [Option ID = 7463]

2. High / 3= [Option ID = 7462]

3. None of these / 3578 & &I & 51T [Option ID = 7464]
4. Less / & [Option ID = 7461]

Correct Answer :-
e Less / && [Option ID = 7461]

33) In the reverse blocking mode the middle junction (J2) has the characteristics of that of a:-

R saAlfehar AYS & AT S (S 2) H T, T FATA &:- [Question ID = 1828]

1. None of the mentioned / 3eolf@d H & IS A [Option ID = 7616]
2. Inductor / 9= [Option ID = 7615]

3. Transistor / gifeeex [Option ID = 7613]

4, Capacitor / ¥aTR= [Option ID = 7614]

Correct Answer :-
« Capacitor / @R [Option ID = 7614]

34) Conduction bands and valence bands overlap in:-

FsFee A3 3R T A R a7 FIA &2 [Question ID = 1855]



1. Conductor / &seX [Option ID = 7723]

2. None of these / =131 & &I &Y sTgT [Option ID = 7724]
3. Semiconductor / @H&saeX [Option ID = 7721]

4. Insulator / $geleX [Option ID = 7722]

Correct Answer :-
o Conductor / &3&eX [Option ID = 7723]

35) In hydroelectric power station Kaplan turbine is used for

EISSIsAFed UTaT T Hhood ST A & forw 39er {3 it §| [Question ID = 1787]

1. Medium head / #ifsg# ¥ [Option ID = 7451]
2. All of these / T3fr fased [Option ID = 7452]

3. High head / 3Ta &Y [Option ID = 7449]

4, Low head / fa#=T oW [Option ID = 7450]

Correct Answer :-
« Low head / &&= 2§ [Option ID = 7450]

36) Depending upon the voltage to be handled, switchgear may be broadly classified into:-

faifia 6 omet ara et s & HuR W Ay #t Al @R W geffea fFast far simawar 82 [Question ID =
1802]

1. Outdoor type / 333K 2139 [Option ID = 7509]
2. None of these / =18 & &I $iY sTgt [Option ID = 7512]

3. Indoor type / 843K 2139 [Option ID = 7510]
4. Both Outdoor type and Indoor type / a5l 338K &89 3iR 343K €189 [Option ID = 7511]

Correct Answer :-
« Both Outdoor type and Indoor type / Gt 3T3€3R €139 3iR 848K €189 [Option ID = 7511]

37) During the transition time or turn-on time:-

TSI AT IT ¥ 3Tl AT F &RT:- [Question ID = 1827]

1. The forward anode voltage increases from 10 % to 90 % & the anode current decreases from 90% to 10% of
the initial value / 37T Tl dleeaT 10% & 90% T ¢ STl & 3R TS e YRTFHF A & 90% & 10% deh
g ATdT & [Option ID = 7612]

2. The forward anode voltage decreases from 90 % to 10 % & the anode current also decreases from 90 to 10 %
of the initial value / 373 Tals dledat 90% & 10% T T ST § 3 TAls e Y URIFS AT & 90 ¥ 10%
T gc ST g [Option ID = 7609]

3. The forward anode voltage decreases from 90 % to 10 % & the anode current increases from 10 % to 90 % of
the initial value / 31T T alecst 90% & 10% de o JTCT § 3R TAE Fie IRIAF A & 10% & 90% deh
§¢ STt & [Option ID = 7611]

4. The forward anode voltage increases from 10 % to 90 % & the anode current also increases from 10 % to 90
% of the initial value / 33T TAIE dlesT 10% &/ 90% deh §¢ SATdT & 3R TS e o URfAS AT & 10% &
90% de &G ST § [Option ID = 7610]

Correct Answer :-
« The forward anode voltage decreases from 90 % to 10 % & the anode current increases from 10 % to 90 %

of the initial value / 31T TS dicest 90% & 10% de b T § 3R T8 e URiAS AT & 10% &



90% e §¢ SITdT & [Option ID = 7611]

38) Which gate operation gives high output when any one of its input is high?

FIeT AT AT IHTRAT 3T H3CYE AT §, I 0 SAYC # & F1$ 3 357 811 §2 [Question ID = 1760]

1. EX-OR Gate / EX-OR 3€ [Option ID = 7343]

2. NAND Gate / NAND 3 [Option ID = 7342]

3. NOR Gate / NOR 3¢ [Option ID = 7341]

4, EX-NOR Gate / EX-NOR 31 [Option ID = 7344]

Correct Answer :-
o EX-OR Gate / EX-OR i€ [Option ID = 7343]

39) By using false triggering of the SCRs by varying flux & noise is avoided.

THHIAR F Bied fEITRIT Y, IAIT-3reT9T YaTg 3T AT F 3771 FIA & AT, T T4 TR ST |
[Question ID = 1816]

1. FA.CLF & C.B/ UHh.U. 8T« .UG 3R A&7 [Option ID = 7565]

2. Shielded cables & twisted gate leads / 2fiees Faed 3R cfaEes I lisd [Option ID = 7566]

3. Snubber circuits / TeTssR Tidhed [Option ID = 7567]

4, di /dt inductor in series with the gate terminal / 3te cf&er & AT WIS & 81 3M$ / 3 & §5%FeX [Option ID =
7568]

Correct Answer :-

« Shielded cables & twisted gate leads / ¢fiess sheed 31X Tfawes Jic oiisd [Option ID = 7566]

40) The forward dv/dt rating of an SCR:-

T THHIBR Y 3rfAe S / S IR - [Question ID = 1820]

1. Decreases with decrease in the rms value of forward anode-cathode voltage / 31T3# TAIS-$HAUE alecsT &
HRUATH Hed H AT & WY °e STl & [Option ID = 7584]

2. Decreases with increase in the junction temperature / SeFRIeT ATYAT 3 gfg & HTY € ST &. [Option ID =
7582]

3. Increases with increase in the junction temperature / STarTeT dTIHTT 3 gfg & a1y ¢ e & [Option ID =
7581]

4. Increases with decrease in the rms value of forward anode-cathode voltage / 3131 Tals-U1g diees &
HRUATH Hed H HHT & Y §¢ A1l § [Option ID = 7583]

Correct Answer :-

« Increases with increase in the junction temperature / SeRIeT ATYHTT & Jfg & ATY §¢ ST § [Option ID =
7581]

41) The two transistor model of the SCR can obtained by:-

THHIAR & &Y CifoeX Alsd & gaRT YIcd X THd §:- [Question ID = 1824]

1. Bisecting the SCR vertically / THHI3R & eidad &9 H fda]ioTd e [Option ID = 7597]
2. Bisecting the SCRs middle two layers / THHI3IR &I HEIH T &l Gl ST &fd9If0Td Fh [Option ID = 7600]
3. Bisecting the SCR horizontally / THEIR & &fdist €7 & gfaeOre & [Option ID = 7598]



4. Bisecting the SCRs top two & bottom two layers / TEEIIR 1 e aF 3R forerel a7 Wl gfaeiore &<k [Option
ID = 7599]

Correct Answer :-
« Bisecting the SCRs middle two layers / THEN3TR &I HEIH I & Ul T A0 F¥eh [Option ID = 7600]

42) The current zero interruption, in oil and air blast circuit breakers, is achieved by:-

e Regd U FFmac, dw iR arg Rewie wfée aat #, frws qanr wea 1 37t 82 [Question ID = 1812]

1. Deionizing the oil with forced air / SeTqde §aT & AU el &M [A3MA=iehd [Option ID = 7552]

2. Lengthening of the gap (or) cooling and blast effect / 37aRTel & TAEAR AT eMfdereT 3R [a¥mle T87a [Option ID =
7551]

3. Lengthening of the gap / 37Tl & fa€aR garT [Option ID = 7549]

4, Cooling and blast effect / 2ffdersT 3R faTwic gsra [Option ID = 7550]

Correct Answer :-

« Lengthening of the gap (or) cooling and blast effect / 37aRTer & [G¥AR AT effcTerer 3R faEwie Tsma [Option
ID = 7551]

43) How is the voltage determined when the current and resistance are given?

RT3 9faY R e w¥ aleest & F AU fram simar 82 [Question ID = 1780]

1. Divide the current by the resistance / &IRT s 9faRrer & fTAsnfaa &< [Option ID = 7422]
2. Subtract the current from the resistance / &RT 3iR 9fcRIer &7 Si1g [Option ID = 7423]
3. Multiply the current and resistance / &IRT 3R GfaRTer &1 aom ¥ [Option ID = 7421]

4, Add the current and the resistance / ac#Te 3R gfcRTer sitg [Option ID = 7424]

Correct Answer :-
« Multiply the current and resistance / &IRT 31X SfeRTer T aom &Y [Option ID = 7421]

44) The apparatus used for switching, controlling, and protecting the electrical circuits and
equipment is:-

farsrelt & wffret 3 sumor w1 fFafRrer, frEor 3t gean & v seaare fFar S arar 3yor H B am § S
ST 82 Known as [Question ID = 1798]

1. Conductor / &s%eX [Option ID = 7494]

2. Diverter / g13acX [Option ID = 7496]

3. Switchgear / aafirzx [Option ID = 7493]
4. Insulator / $gelex [Option ID = 7495]

Correct Answer :-
« Switchgear / EaafIX [Option ID = 7493]

45) Which unit is used to measure the capacity of a battery?

F Fr aaT AR F AT Pl W gw$ F1 wA9T FAT SATAT &2 [Question ID = 1869]

1. Watt / are [Option ID = 7780]
2. Ampere-hour / T&d=R-geT [Option ID = 7778]
3. Volt-ampere / alee-TF4RI [Option ID = 7779]



4, Ampere / TFIRX [Option ID = 7777]

Correct Answer :-
o Ampere-hour / T&dR=R-8erT [Option ID = 7778]

46) Here are two threads B and C have the same cross-section and are made of the same material. [
R) _B =500 Q and R_C =100 Q. The number of times B is longer than C is

T AFABIRCATF A PA-AREA A IR I TAT GG a1 (RY _B=500Qand R_C=100Q.BC
¥ AT o B

[Question ID = 1865]

1. 1 [Option ID = 7762]
2. 5 [Option ID = 7761]
3. 4 [Option ID = 7764]
4. 3 [Option ID = 7763]

Correct Answer :-
o 5 [Option ID = 7761]

47) The normal resistance of a pilot wire is:-

TF qIIeTE a1 AT Tfader #4782 [Question ID = 1782]

1. More than 500 ohms / 500 31/ & 37f® [Option ID = 7430]
2. More than 1500 ohms / 1500 3i1# & 37f&i% [Option ID = 7432]
3. Less than 500 ohms / 500 3ite & & [Option ID = 7429]

4, Less than 1500 ohms / 1500 31 & &a [Option ID = 7431]

Correct Answer :-
o Less than 500 ohms / 500 3i1& & @& [Option ID = 7429]

48) Which type of power stations use potential energy of water to produce electrical energy?

Ry 3911 1 3eTee F F T B vaR & Rrsrelt Feare ar=lt i wenfae S #1 39T F3d §2 [Question ID
= 1788]

1. Diesel power station / 3istel 9T 2T [Option ID = 7453]

2. Nuclear power station / YA Foll T2 [Option ID = 7455]

3. Hydroelectric power station / g8aisalfage qrax TeereT [Option ID = 7456]
4, Steam power station / TEIH 9TaX TE2reT [Option ID = 7454]

Correct Answer :-
« Hydroelectric power station / gT83ISellarceh grax T2t [Option ID = 7456]

49) Which type of power station can be located at any place?

fRT YR FT STl T fFa sit Tater @ [Py g @shdar 82 [Question ID = 1789]

1. Diesel power station / 3rstel 9T 2T [Option ID = 7457]
2. Nuclear power station / TR&HTI] Jsit F21=T [Option ID = 7459]



3. Hydroelectric power station / gl8gIgalfdee drax Teer [Option ID = 7460]
4, Steam power station / TEH UTay T [Option ID = 7458]

Correct Answer :-
« Diesel power station / 8YsTer UTay 2Tl [Option ID = 7457]

50) Which type of generating system converts heat energy of coal into electrical energy?

forer T Y SeaTeeT JuTTelt Frrer A FEHRT St F fagga st 7 aRafda FC 82 [Question ID = 1756]

1. Diesel power station / StsTer fdegd se; [Option ID = 7326]

2. Nuclear power station / SR#TY] faegd g [Option ID = 7328]

3. Hydroelectric power station / gTggIgeifaeesh fdegd g [Option ID = 7327]
4. Steam power station / 89 faegd &g [Option ID = 7325]

Correct Answer :-
« Steam power station / #T9 faggd g [Option ID = 7325]

51) Magnetic disk, electric motors, speakers, relays use which of the following elements?

qahiT 5%, safdes Alcd, ¥a, R Pwafaf@a acat #F @ w1 393k #39 §2 [Question ID = 1848]

1. Geothermal Energy / &1 - ardrr FeiT [Option ID = 7694]

2. None of these / =131 & &I &1 sTgT [Option ID = 7696]

3. Hydrochemical agents / gT8sIehiaiehel Usic [Option ID = 7695]
4. Electromagnets / fa¢[d g#<s [Option ID = 7693]

Correct Answer :-
« Electromagnets / fa¢[d g&I+ [Option ID = 7693]

52) Quadrature axis synchronous reactance is the ratio of

TqeT a7 Jeaaifas afafar F1 31919 ¥| [Question ID = 1857]

1. Vmin to Imax / faf&sT & 3m$dsw [Option ID = 7731]
2. Vmin to Imin / faf&s & 3m$fA=T [Option ID = 7732]

3. Vmax to Imax / dr&ea & 3ms8&d [Option ID = 7729]
4, Vmax to Imin / dréea & 3mefAsT [Option ID = 7730]

Correct Answer :-
 Vmin to Imax / faf&a & 3m$#« [Option ID = 7731]

53) Latching current for an SCR is 100 mA, a dc source of 200 V is also connected to the SCR which
is supplying an R-L load. Compute the minimum width of the gate pulse required to turn on the
device. Take L = 0.2 H & R = 20 ohm both in series.

T THHINR & AT AT earr 100 vAT §, zoom—cmwmmaﬁwﬁnmtaagm%mmwmaﬁ
Imqfet #T W@ 8. waﬁmmﬁﬂ:ﬁmmwﬂzmﬁwaﬁéﬁmﬁ dTHL=02HIRR =
20 397 .

[Question ID = 1821]



1. 81 psec [Option ID = 7588]

2. 62.7 psec [Option ID = 7585]
3. 100.5 psec [Option ID = 7586]
4. 56.9 psec [Option ID = 7587]

Correct Answer :-
e 100.5 psec [Option ID = 7586]

54) Stator and rotor fields rotate simultaneously in which of the following motors?

T AR Ve 81 v Arafaf@a & @ e Aer F gra 82
[Question ID = 1893]

1. Universal motor / &a= #ex [Option ID = 7875]

2. Synchronous motor / dedehifeleh HeX [Option ID = 7876]
3. D.C. motor / 3T €T #AIex [Option ID = 7873]

4. Reluctance motor / fd#@ #Hex [Option ID = 7874]

Correct Answer :-
+ Synchronous motor / dedelTelsh HeY [Option ID = 7876]

55) What does the Eddy current loss depend on?

wsEl e a1fa R oX e #3ct €2 [Question ID = 1773]

1. All of these / @&t faered [Option ID = 7396]
2. Frequency / 3igfeet [Option ID = 7393]

3. Thickness / #TeT$ [Option ID = 7395]

4. Flux density / Felard Helcd [Option ID = 7394]

Correct Answer :-
o All of these / @ fashed [Option ID = 7396]

56) In which of the following conditions will a 3-phase synchronous machine works as a capacitor?

et & & frw FPufa & v 3-=RoT qeaafas wefler Fufa & w7 & F19 <t 82 [Question ID = 1880]

1. None of these / 3578 & &Ig 8t 5Tt [Option ID = 7824]

2. Critically Excited / sifae ®9 & 3cdfoid [Option ID = 7821]
3. Under Excited / & 3cdfoid [Option ID = 7823]

4, Over Excited / 37caf@ie 3cdtoid [Option ID = 7822]

Correct Answer :-

o Over Excited / 37caf@ie 3cafold [Option ID = 7822]

57) In which of the following magnetism types, the atoms are aligned in parallel magnetic
moments?

et & & F7 A1 Gawhea, WATY] FAETR o goit 7 softag §2 [Question ID = 1853]

1. Ferro-magnetism / ®RI-#aaAfesta [Option ID = 7715]



2. Dia-magnetism / f8aT-gsehca [Option ID = 7713]
3. Ferri-magnetism / ®1-#=festaT [Option ID = 7716]
4, Para-magnetism / RT-#7aAfeste [Option ID = 7714]

Correct Answer :-
« Ferro-magnetism / ®1-#3afes# [Option ID = 7715]

58) If the true power is 120 W and power factor is 0.68, then what will be the apparent power (in
VA)?

3R T 9TaT 120 W 31X 91av thare 0.68 §, & wewsT arax &4 gl (VA #)?
[Question ID = 1864]

1. 81.6 [Option ID = 7758]
2. 17.6 [Option ID = 7760]
3. 176.47 [Option ID = 7757]
4. 103.2 [Option ID = 7759]

Correct Answer :-
e 176.47 [Option ID = 7757]

59) If the candle power is 45cd, then how much flux will be emitted by this source?

Ifg AAAacd 1 afFd 45cd B, Ot 36 W gaRT forae varg scafora fmar sream?
[Question ID = 1768]

1. 565.2 lumens / 565.2 F_I’?ﬁﬂ' [Option ID = 7373]

2. 764 lumens / 764 oA« [Option ID = 7374]

3. 0.00725 lumens / 0.00725 o[#=T [Option ID = 7376]
4.9.20 lumens / 9.20 F&A=T [Option ID = 7375]

Correct Answer :-
* 565.2 lumens / 565.2 o[#=T [Option ID = 7373]

60) The storage capacity of a SONY pendrive is 16 GB. Here what does G mean in 16 GB?

alet Ygrsa $r TR 4THAT 16 GB §1 16 GB # G &1 Ada« #41 §2 [Question ID = 1833]

1. 1024 KB/ 1024 &4 [Option ID = 7633]
2. 1024 TB/ 1024 & [Option ID = 7635]
3. 1025 PB / 1025 d [Option ID = 7636]
4. 1024 MB/ 1024 THST [Option ID = 7634]

Correct Answer :-
e 1024 MB/ 1024 TadT [Option ID = 7634]

61) Overload relays are of type.

Maes R R | [Question ID = 1813]



1. All of these / @Y Tdsed [Option ID = 7556]

2. Thermal / &&er [Option ID = 7554]

3. Electromagnetic / faegd g&=hi [Option ID = 7555]
4, Solid state / 3 3/@¥T [Option ID = 7553]

Correct Answer :-
o All of these / @3 fdshed [Option ID = 7556]

62) A thermal protection switch can protect against:-

UF geter YRaT aw frwa fawg Tat F¥ar 82 [Question ID = 1814]

1. None of these / 3578 & FIg #ff Tt [Option ID = 7560]
2. Overload / 3ita3eis [Option ID = 7559]

3. Short-circuit / 2¢ dfdhe [Option ID = 7557]

4, Temperature / d9AT [Option ID = 7558]

Correct Answer :-
« Overload / 3ffaXars [Option ID = 7559]

63) What is the relation between length of the cable and the capacitance?

Fao Y a@r$ 3T enfar F i g #3182 [Question ID = 1777]

1. No relationship / @IS T&er AgT [Option ID = 7412]

2. Equal / g&ATsT [Option ID = 7411]

3. Directly Proportional / Hﬂmﬂm?ﬁ [Option ID = 7409]
4. Indirectly Proportional / sgcsh#TedTc [Option ID = 7410]

Correct Answer :-
 Directly Proportional / Hﬂwﬁr [Option ID = 7409]

64) What is the capacity of India's biggest thermal power plant?

R & Fa¥ 93 darT 3T TIF Y &787a1 F41 82 [Question ID = 1882]

1. 5560 MW / 5560 #3mare [Option ID = 7832]
2. 5340 MW / 5340 #emmare [Option ID = 7831]
3. 4760 MW / 4760 #ammate [Option ID = 7830]
4, 4620 MW / 4620 #3mare [Option ID = 7829]

Correct Answer :-
e 4760 MW / 4760 #amare [Option ID = 7830]

65) What is the most suitable method to turn on the SCR device among the following?

et & & v W 3R I A1 F F AT Fa® 39gFT i 747 82 [Question ID = 1830]

1. Gate triggering method / 3t fgarier fafer [Option ID = 7621]

2. Forward voltage triggering method / 3rI¥d atecst fgarier fafer [Option ID = 7623]
3. Temperature triggering method / ar9#TeT feaTRer fafer [Option ID = 7624]

4. dv /dt triggering method / 31T / 3T feaTier fafer [Option ID = 7622]



Correct Answer :-
« Gate triggering method / e feaTRer fafer [Option ID = 7621]

66) What is the decimal equivalent of the hexadecimal number AF2?

TFARRAA FaT AF2 & SUa g2rdAod 4T §2? [Question ID = 1832]

1. 2802 [Option ID = 7631]
2. 10152 [Option ID = 7632]
3. 2048 [Option ID = 7630]
4. 162 [Option ID = 7629]

Correct Answer :-
o 2802 [Option ID = 7631]

67) What is the critical temperature (in Kelvin) for Lead below which it shows superconductivity?

AS & Fifas a9 (Ffeae F) 71 § o @ A= 77 srfarasar ff@rar £2 [Question ID = 1873]

1. 0.8 [Option ID = 7793]
2. 1.2 [Option ID = 7794]
3. 4.2 [Option ID = 7795]
4, 7.2 [Option ID = 7796]

Correct Answer :-
e 7.2 [Option ID = 7796]

68) What is the efficiency of diesel power station?

dIeTer qTaT TUT FT &aTAAT fhas! 82 [Question ID = 1792]

1. 53-56% [Option ID = 7472]
2. 22-27% [Option ID = 7470]
3. 85-90% [Option ID = 7471]
4. 35-42% [Option ID = 7469]

Correct Answer :-
o 35-42% [Option ID = 7469]

69) What is the phase difference (in degree) of input and output voltages of a transistor in common
emitter arrangement?

I AT SqawdT 7 v Sifeet & ga7qe 3 3m3eye ateesr # ¥t e} (Baft &) Fa1 82 [Question ID =
1897]

1. 45 [Option ID = 7891]
2. 60 [Option ID = 7892]
3. 90 [Option ID = 7889]
4. 180 [Option ID = 7890]

Correct Answer :-
« 180 [Option ID = 7890]



70) What is used as a prime mover in gas turbine plant?

I Xarse w37 #, e e #1 397r 9157 A & w9 7 fHar St 82 [Question ID = 1794]

1. Gas turbine / 3\ gaT8=T [Option ID = 7479]

2. Diesel / tsTer [Option ID = 7477]

3. Water / 9rsir [Option ID = 7478]

4, Pelton turbine / YelesT eIaTaeT [Option ID = 7480]

Correct Answer :-
o Gas turbine / /g TdgaT [Option ID = 7479]

71) What is the role of alternator in a steam power station?

FE UTaR TUA H 3ifeeex $T {fAFT #4182 [Question ID = 1784]

1. It converts electrical energy into mechanical energy / TatId SsiT sl Aif¥eh Foit 7 TRETcId &l & [Option ID =

7437]

2. It converts heat energy to mechanical energy / Ig ATdII FaiT &l Aif3eh Feil # TRaldd HdTl & [Option ID =
7439]

3. It converts heat energy to electrical energy / Ig aTdia Jwil &I fdegd Feil # gRafdd s¥ar & [Option ID =
7440]

4. It converts mechanical energy into electrical energy / I Jifaeh Fsit 1 fdeFel Foil # TRaTcIcT @l & [Option
ID = 7438]

Correct Answer :-

« It converts mechanical energy into electrical energy / Ig Jif3sh 3T &1 faegd Foit & TRETcId Al &
[Option ID = 7438]

72) What is the principle of Induction heating process?

UIOT A9 IFsHAT T 47 fAgIaT 82 [Question ID = 1899]

1. Nucleate heating principle / ST dr9eT f&gia [Option ID = 7898]

2. Thermal ion release principle / FSHIT 3Tl Wm [Option ID = 7897]

3. Resistance heating principle / 9faRTer arder fagia [Option ID = 7899]

4. Electro-magnetic induction principle / faegd gsehra 9=oT &gl [Option ID = 7900]

Correct Answer :-
+ Electro-magnetic induction principle / faege g 9XoT &g [Option ID = 7900]

73) What is the number of nodal equation in the nodal analysis of a linear circuit having 4 nodes?

4 Az arer W ke F Asa Aeawor & Aea goieor Y T&31 741 §? [Question ID = 1867]

1. 6 [Option ID = 7772]
2. 5 [Option ID = 7771]
3. 3 [Option ID = 7769]
4. 4 [Option ID = 7770]

Correct Answer :-
« 3 [Option ID = 7769]



74) What is the total anode current of SCR in the equivalent circuit from the two transistor (T1 &
T2) analogy of SCR?

THHIIHT T FATAT AT A iforee? (8 1 AR 2 2) A, vHHAR F Fof Tells 4RT FoAhaT IRay F fraed gaf
[Question ID = 1823]

1. The sum of both the base currents / &=t #eT &TRT3{T & FeT [Option ID = 7593]

2. The sum of both the collector current / &It TaTgeh YRT3AT T 19T [Option ID = 7594]

3. The sum of base current of T2 & collector current of T1 / € 1 I HalTgeh €RT 3R &T 2 T FT URT T AT
[Option ID = 7596]

4. The sum of base current of T1 & collector current of T2 / € 1 &I #eT &RT 31X & 2 T HaTgeh &IRT T AT
[Option ID = 7595]

Correct Answer :-
« The sum of both the collector current / @le TaITgeh YRT3T T T [Option ID = 7594]

75) What is the total resistance of a series circuit and parallel circuit respectively for resistors R_1 =
2 ohms, R_2 = 4 ohms and R_3 = 1 ohm?

it & fare afée sk gamiar @ffe F#e: R_1 = 2 ohms, R_2 = 4 ohms 3R R_3 = 1 3i1# & Far yfoir
F41 8?2 [Question ID = 1845]

1. 1.75, 7 [Option ID = 7683]
2.7, 1.5 [Option ID = 7681]
3.7, 1.75 [Option ID = 7682]
4.7, 7 [Option ID = 7684]

Correct Answer :-
e 7,1.75 [Option ID = 7682]

76) Why surge tanks are used in hydroelectric power system?

TS AfFeH et RATeH & A EF FT 3937 F41 fFAT ST §2 [Question ID = 1785]

. None of these / =18 & I #iY sTgT [Option ID = 7444]

. For the protection of penstock / d=T¥eieh T &t & ferw [Option ID = 7441]
. For the protection of spillways / feqed &I g&Tr & fow [Option ID = 7443]

. For the protection of turbines / ZsTg=it &1 FI&T & forw [Option ID = 7442]

A WN -

Correct Answer :-
« For the protection of penstock / Jsi¥eleh T FI&T & foiw [Option ID = 7441]

77) For an SCR, the gate-cathode characteristic has a slop of 130. The gate power dissipation is 0.5
watts. Find Ig.

T THHIHR & faT, de-Fus RAAYar 130 F1 vF TOT 8. A 9iaT 3r9eq7 0.5 are § | 3r$si aa1¢| [Question ID
= 1825]

1. 6.2 mA [Option ID = 7604]
2. 0.62 A [Option ID = 7601]
3. 620 Ma [Option ID = 7602]
4, 62 mA [Option ID = 7603]



Correct Answer :-
e 62 mA [Option ID = 7603]

78) Candela is the unit of

H3dT Frza1$ §| [Question ID = 1779]

1. Luminous flux / & faad erera [Option ID = 7418]

2. Luminous intensity / ef#faae dlierar [Option ID = 7420]
3. Wavelength / @31 &€ [Option ID = 7417]

4. Frequency / 3mgfce [Option ID = 7419]

Correct Answer :-
+ Luminous intensity / S[#faa& cferelr [Option ID = 7420]

79) The average power consumed in purely inductive circuit is:-

g ¥ & 9ot wfe F wgFa sitwa 3917 7% 8- [Question ID = 1887]

1. 0.25 [Option ID = 7852]
2. 0 [Option ID = 7851]

3. 0.5 [Option ID = 7850]
4. 1 [Option ID = 7849]

Correct Answer :-
o 0 [Option ID = 7851]

80) Polyethylene, Nylon, Teflon, PET and vinyl are all examples of:-

qifafeis, AT, ewdle, PET 3 Remse waft frae 3€18Ior €2 [Question ID = 1856]

1. Thermoplastics / ¥#TceniEes [Option ID = 7725]

2. None of these / 3=131 & s 3fY igt [Option ID = 7728]
3. Titanium alloys / e8¢ faraa &1 [Option ID = 7727]
4, Elastomer / TeTEe#R [Option ID = 7726]

Correct Answer :-
 Thermoplastics / ¥&TCaTEee [Option ID = 7725]

81) If in a synchronous motor, driving mechanical load and drawing current at lagging power factor
from constant voltage supply, its field excitation is increased, then its power factor:-

I T Jeasiias Al TS @1 o ST @1 TUT IRased AfFd R 0 YT aleest Arqfed & 4R o T@T, $HHT &
ScdoreT 96 ST § df 39T AFdT FR*:- [Question ID = 1901]

1. Become more / STeT & ST & [Option ID = 7905]
2. Become less / && &I SiTdT & [Option ID = 7906]

3. All of these / T fashed [Option ID = 7908]

4, Remain constant / fE2R g & [Option ID = 7907]

Correct Answer :-
« Become less / & & SATdT & [Option ID = 7906]



82) Electric charge measured in Coulombs has the charge of how many electrons?

FAH A gofdees aTot Faa soaial 1 TR & & g2
[Question ID = 1842]

1. 6.242 * (1018) [Option ID = 7669]
2. 6.242 * (108) [Option ID = 7670]
3. 8.242 * (10!8) [Option ID = 7671]
4. 8.242 * (108) [Option ID = 7672]

Correct Answer :-
« 6.242 * (1018) [Option ID = 7669]

83) A protective device, which reduces the steepness of wave front of a surge by absorbing surge
energy, is called:-

TF GUATICAF STFT §, AT 311 AT N FaiT Y g & FROT A6 AV Y STl F1 HA FIa1 8, [T FgT AT
#:- [Question ID = 1797]

1. Surge diverters / 3Taer 3rgacy [Option ID = 7489]

2. Surge absorbers / 3Taer 37@2ive [Option ID = 7491]
3. Switching surges / T&a@sT 3aer [Option ID = 7492]
4, Earthling screen / 31391 ThieT [Option ID = 7490]

Correct Answer :-
« Surge absorbers / 3Taer 3a2Nye [Option ID = 7491]

84) In an amplifier with the negative feedback, bandwidth is and voltage gain is
Mifeq dsds & @y wrrwRR #, dsfagy & 3iiv et amer 2| [Question ID =
1841]

1. Bandwidth is decreased by factor (1+AB) and voltage gain decreases / §3fa8Y Tea (1 + AB) & HH &I ST &
3R dreesT o & T STaT § [Option ID = 7668]

2. Bandwidth is decreased by factor B and voltage gain remains same / §3Td8Y cs B & H# g AT & 3R dleca
ST THTATS &1 8T & [Option ID = 7665]

3. Bandwidth is increased by the factor (1+AB) and voltage gain is reduced / §3fa5 s (1+ABR) & §¢ ST ¢
AR aleesT ATeT % gIdm ¢ [Option ID = 7666]

4. Bandwidth remains same and voltage gain increases / ?&%ﬁ'sjir Uoh AT I8 & 3R alecsT oTe d&dT & [Option
ID = 7667]

Correct Answer :-

« Bandwidth is increased by the factor (1+AB) and voltage gain is reduced / §3f35 e (1+AB) & §¢ ST &
3T AT &reT FeT 8T & [Option ID = 7666]

85) Choose the types of electrochemical cells from the following options.

farafaf@a Reedl & ¥ fya vafas da F vawri w1 941



[Question ID = 1859]

1. 1. Galvanic (that consume electrical energy) and 2. Electrolytic (that consume electrical energy) / "1. 3erar@es
(S T Fsit & 3T T ©) 3R 2. gerreransies (S faed St o1 39sT el ) " [Option ID = 7737]
2. 1. Galvanic (that produce and consume electrical energy) and 2. Electrolytic (that produce electrical energy) / 1.

dreraferes (TSE# faefe ot &1 3cdTest 3R 3UHIET gIaT §) 3R 2. SoiecIamsies (faegd Fsil T Scurest T §)
[Option ID = 7739]
3. 1. Galvanic (that produce electrical energy spontaneously) and 2. Electrolytic (that consume electrical energy) /

1. derarforen (Fores e Fofl @1 Scureet e &) 3R 2. geretensiee (R fed Sofl @ 3uslior e 8)
[Option ID = 7738]

4. 1. Galvanic (that produce electrical energy) and 2. Electrolytic (that produce electrical energy) / 1. 3rerarfesien
(et e ot &1 3eareet gt §) AR 2. saFgiensies (e Fsit &1 3curest &t &) [Option ID = 7740]

Correct Answer :-
« 1. Galvanic (that produce electrical energy spontaneously) and 2. Electrolytic (that consume electrical

energy) / 1. Yerariareh (TS H#H TaYd Foil &I 3cdiee Il §) 3R 2. gerFeramsies (e faed Sl @1 suster
&aT &) [Option ID = 7738]

86) The flow of charged particles in one unchanging direction is called:-

TS ARG 2 3 et HIT FT YaTg FAT Feardar &2 [Question ID = 1846]

1. None of these / =787 & s 3ff 51T [Option ID = 7688]
2. Sinusoidal Current / TT8A@sse 9RT [Option ID = 7687]
3. Direct Current / 9ca&T &1 [Option ID = 7685]

4, Alternating Current / ScaTadt €T [Option ID = 7686]

Correct Answer :-
o Direct Current / 9cg&T YRT [Option ID = 7685]

87) is defined as the no. of cycle completed by an alternating quantity in one second.

FI U Qs H dwfous AET garT qoF g A T&ar & & 7 gRenf¥a f&Far srar 8| [Question ID =
1762]

1. Frequency / 3mgfeat [Option ID = 7349]

2. Cycle / T [Option ID = 7350]

3. Amplitude / 311 [Option ID = 7352]

4, Instantaneous value / dTcaifeleh AT [Option ID = 7351]

Correct Answer :-
» Frequency / 3gfcet [Option ID = 7349]

88) Transmission ratio of transformer is

TAPIHT HT 90T IeTaTe gl
[Question ID = 1761]

1. K=V5 /Vy = E{ /[E; = Ny /N [Option ID = 7348]
2. K = V/Vq = Ez/Eq =Ny/N; [Option ID = 7347]
3. K = Vq /V5 = Ey /E; = Ny /N, [Option ID = 7345]



4. K =V /E1 = N1 /E; = V5 /Ny [Option ID = 7346]

Correct Answer :-
e K= V2/V1 = E2/E1 =N2/N1 [Option ID = 7347]

89) Irrespective of the causes, which is the fault in a 3-phase system?

Y & {4 3MaYT &, 3-%W RATeA H FiaT-u1 9 g1ar &2 [Question ID = 1803]

1. Unsymmetrical faults / 3/9&fAd &I [Option ID = 7514]

2. Both Symmetrical faults and Unsymmetrical faults / @it G &y 3R 3@ AT &y [Option ID = 7516]
3. Symmetrical faults / FAfAT @ [Option ID = 7513]

4, External faults / STE5r gIY [Option ID = 7515]

Correct Answer :-
« Both Symmetrical faults and Unsymmetrical faults / gl ¥ATAT eI 3R 3:9ATAT gIv [Option ID = 7516]

90) Switching surges, insulation failure, and resonance can cause

HTAY TEAAT, FeHAUA RAera, AR e 3ce< &Y @l €| [Question ID = 1795]

1. Overvoltage / 3ta<alecst [Option ID = 7481]

2. Both Overvoltage and Low voltage / i<t 3laRaleest 3R & diecs [Option ID = 7483]
3. None of these / 33 & 1S off A&T [Option ID = 7484]

4, Low voltage / @& dlecst [Option ID = 7482]

Correct Answer :-
 Overvoltage / 3itaXarecst [Option ID = 7481]

91) When both the junctions of bipolar junction transistor (BJT) are in forward biased, then in
which region BJT will operate?

ST gfaerdY siFrere giforeet (BIT) & alAl Sl $ivas a/Es &, af BIT & &1 & &1 :¥an? [Question ID =
1877]

1. Ohmic region / 371IfA% &= [Option ID = 7811]

2. Cut-off region / se-31% &1F [Option ID = 7812]
3. Saturation region / HcJfte &= [Option ID = 7809]
4. Active region / Efehr &1 [Option ID = 7810]

Correct Answer :-
» Saturation region / &t & [Option ID = 7809]

92) Essential features of switchgear are:-

RaafR &t smaegs A #7241 §:- [Question ID = 1799]

1. Absolutely certain discrimination / ﬁ?gl;?vr fafarse igama [Option ID = 7498]
2. All of these / ET fdshed [Option ID = 7500]

3. Complete reliability / oY fa2a=farar [Option ID = 7497]

4, Quick operation / @R 3TR2I= [Option ID = 7499]



Correct Answer :-
« All of these / T3fr Tdeed [Option ID = 7500]

93) There are three terminals in an operational amplifier, they are 2 inputs and 1 output. What does
the third one represent?

TF HATelel TFIAHTaR 7 dfter efiferer §, 2 3o19e & 3R 1 3m3eqe 7 7| e Far gafar 82 [Question ID =
1836]

1. Source and Drain / @ 3R 37 [Option ID = 7646]

2. Sink and Source / f&& 3R @ [Option ID = 7645]

3. Drain and Gate / 3+7 3iR 3¢ [Option ID = 7647]

4, Inverting and Non-inverting / 3aféar 3R sisI-s1aféaT [Option ID = 7648]

Correct Answer :-
« Sink and Source / & 3iX @d [Option ID = 7645]

94) What kind of device is Field Effect Transistor? /#Ies shae ciforeer 7 YK T 2asd 82 [Question
ID = 1834]

1. Non-Semiconductor / #Te @#HTehsaeX [Option ID = 7637]

2. Unipolar semiconductor / JiTdTerk G#iehserex [Option ID = 7640]
3. Bipolar semiconductor / ST9TeR THTehsaex [Option ID = 7639]
4. Insulator / $geieX [Option ID = 7638]

Correct Answer :-
» Unipolar semiconductor / ZeitaTery @#hseex [Option ID = 7640]

95) The value of anode current required to maintain the conduction of an SCR even though the gate
signal is removed is called as the:-

TATS URT FT AT, THHEIAT F T Y 91¢ T@el & (AT 319 §, g ger & an die Resre wgamar §:-
[Question ID = 1829]

1. All of these / @eft faeed [Option ID = 7620]

2. Latching current / oIf<iaT @< [Option ID = 7618]

3. Holding current / gifeser #e [Option ID = 7617]
4, Switching current / afI9T S¥e [Option ID = 7619]

Correct Answer :-
« Latching current / oIf<ieT e [Option ID = 7618]

96) anode current waveforms will have the minimum junction temperature.

TAYS URT AT T #GeTqd SAFUe dT9HTT 81| [Question ID = 1818]

1. AC / T ¥ [Option ID = 7576]

2. 100 % DC / 100% 3Rt [Option ID = 7573]
3. 25 % DC / 25 % 3r&Y [Option ID = 7574]
4. 50 % DC / 50% Sr&T [Option ID = 7575]

Correct Answer :-



« 25 % DC / 25 % XY [Option ID = 7574]

97) is used for non conventional system to generate electrical energy form.

&1 39T fagga Fait et F e 3x aRafe gorreh & fare frar sirar 81 [Question ID = 1759]

1. Diesel electrical system / SisTer fagged Jotrell [Option ID = 7339]
2. Nuclear system / CIWTU;FQ'UHT% [Option ID = 7340]

3. Tidal energy / a1 ZaiT [Option ID = 7338]

4. Thermal system / 287el YoTTelY [Option ID = 7337]

Correct Answer :-
« Tidal energy / AR 4T [Option ID = 7338]

98) How can we measure the battery capacity in SI units?

& SI Al & deiY F¥ a17aT F& A9 T 2 [Question ID = 1769]

1. Wh [Option ID = 7379]
2. Ah [Option ID = 7377]
3. kWh [Option ID = 7380]
4. Vh [Option ID = 7378]

Correct Answer :-
o Ah [Option ID = 7377]

99) Find the odd one out regarding Ohm's Law.

IR ¥ 47 3H & a7 & At &2 [Question ID = 1764]

1. Vacuum tubes / foiaTeT @4« [Option ID = 7359]

2. Conductor / geTereh [Option ID = 7360]

3. DC circuit / DC &@fde [Option ID = 7358]

4, High Voltage Circuit / 3T dtecst &fdhe [Option ID = 7357]

Correct Answer :-
» Vacuum tubes / fe¥aed & [Option ID = 7359]

100) Consider an n-channel MOSFET having width W, length L and electron mobility in the channel
is pn and capacitance per unit area is C_ox. If gate to source voltage V_GS = 0.7V, drain to source
voltage V_DS = 0.2V, p_nC._ox = 120pA/V, threshold voltage V_T = 0.4V and (W/L) = 60. Calculate
the trans-conductance gm in mA/V.

A & fF n-dae MOSFET 1 aters artem W, wiaT$ L 31 gawreier aifaefierar pn § 3ik ufd 3fe o9 & $efadw
C_ox ¢ | g areest V_GS = 0.7V ¥id & v 1T, 37 ¥ W dieest V_DS = 0.2 V, y_nC._ox = 120pA/V,
dates aleest V_T = 0.4V 3R ((W/L) = 60 &1 mA/V & TiH-ATeshdT ATH Y 31011 FI1 [Question ID = 1840]

1. 2.5mA /V [Option ID = 7662]
2. 1.65 mA /V [Option ID = 7661]
3. 3mA /V [Option ID = 7663]

4. 1.44mA /V [Option ID = 7664]

Correct Answer :-



« 1.44mA /V [Option ID = 7664]

101) When metal is kept at a room temperature, its electrons from the surface cannot escape
because:-

ST T B FA F ATHTA T IGT AT 8, AT 3HF STl Haag 199 FROT § a9 761 ¥Fa? [Question ID =
1839]

1. Attractive force of nucleus / F[&FeIgd & 37Teh¥eh §ef [Option ID = 7657]

2. Repulsive force of electrons / Selarelal T YfdeRe Sof [Option ID = 7660]
3. Attractive force of protons / Fefe & 31Teh¥eh &ef [Option ID = 7658]

4, Attractive force of electrons / Selarelall & 3TRYUT s [Option ID = 7659]

Correct Answer :-
+ Attractive force of nucleus / F&eiIa® & 31Teh¥eh aef [Option ID = 7657]

102) Choose the characteristics which is not related to an ideal opamp.

i fardryar 3l opamp @ Wt 7€t @ 35% 1 [Question ID = 1835]

1. Very high gain / ag?wn—zram [Option ID = 7644]

2. Very high input impedance / Sgd 3T $eTYC 37a% [Option ID = 7642]
3. Very low CMRR / g A CMRR [Option ID = 7641]

4. Very low output impedance / Sgc &3 33¢qe 37aR0¢T [Option ID = 7643]

Correct Answer :-
o Very low CMRR / E|§H %A CMRR [Option ID = 7641]

103) Choose the correct schematic arrangement of nuclear power station.

AT fagTd Fa HY T Aerelrag sqa¥4T I+ | [Question ID = 1758]

1. Nuclear reactor, heat exchanger, steam turbine, alternator / 9I#HTO] RUFe, AT TFAUSR, HTT cIETST,
3fTeeaieX [Option ID = 7333]

2. Steam turbine, alternator, heat exchanger, nuclear reactor / 3T EIET8, 3iTeeiaiel, dT TFHUSR, AT
Ruerex [Option ID = 7335]

3. Steam turbine, heat exchanger, alternator, nuclear reactor / $T9 eSS, ATT TFHUR, 3iTeeiaiey, GIYATI]
Ruee [Option ID = 7336]

4. Alternator, heat exchanger, nuclear reactor, steam turbine / 3ffeeiaiex, dT TFHUSR, AT Ruaex, #7190
{1341 [Option ID = 7334]

Correct Answer :-

» Nuclear reactor, heat exchanger, steam turbine, alternator / SRHTI] RUsFe, dTT TFHISR, #TT &S,
3fTeed=tex [Option ID = 7333]

104) what does the amp?2-sec rating of the SCR specifies?

TEHIIMT AT amp2-sec T Fa1 AfESe wTd 2

[Question ID = 1819]



1. The energy that the device can absorb while operating in the forward blocking mode / @g Fai1, Sit 3R
ITERIEA A3 7 P I THT YT ITNT F Tl & [Option ID = 7580]

2. The energy that the device can absorb before the fault is cleared / g T, S 3YHIUT &IV geTel F Tgol
37TMT™T IR ThdT & [Option ID = 7579]

3. The energy dissipated by the device when fault occurs / 1Y 3cUeeT glel 9T 3YHIUT EGART FaiT ASC T AT &
[Option ID = 7578]

4. The power dissipated by the device when fault occurs / G 3cesT &lel I 3UEIUT GART ToraTell TS I AT &
[Option ID = 7577]

Correct Answer :-

« The energy that the device can absorb before the fault is cleared / ag FlT, ST 3UHIUT SIY FeTd & Tgel
31aMT FT FhaT & [Option ID = 7579]

105) What is the Synchronising power of a synchronous machine?

T Jegahrels AefleT Y Jegehifae AfFa 41 gid 14

[Question ID = 1903]

1. Direcly proportional to the synchronous reactance / dedelelsh RUFCH & HIY 37Tfarfdies [Option ID = 7913]
2. Equal to the synchronous reactance / JeashTersh RTecH & sRTsT [Option ID = 7915]
3. Inversely proportional to the synchronous reactance / dedishicish RuecH o faUd cgcde=1 [Option ID = 7914]

4. None of these / 378 & 1S & [Option ID = 7916]

Correct Answer :-
« Inversely proportional to the synchronous reactance / Jerehreleh RUFEH & faulid cgcde=l [Option ID =
7914]

106) What is the reserve capacity, if the maximum demand of generation of power is 50 MW, the
load factor of plant is 60% and the plant capacity is 50%"?

HIFEIT &THdT 4T &2 IS 50 Aare Ssrell Y rfeFas AT §, A I F7 1S haet 60% ¢ 3 I Y a7 dr
50% &?

[Question ID = 1890]

1. 15 MW / 15 Tagse3] [Option ID = 7863]
2. 10 MW / 10 T&Sseg [Option ID = 7862]
3. 20 MW / 20 T#sseg [Option ID = 7864]
4.6 MW / 6 Tassey [Option ID = 7861]

Correct Answer :-
+ 10 MW / 10 THSse [Option ID = 7862]

107) What is the value of g in a transistor having I¢ = 100.2mA and Ig = 100mA?
gifSreex # et 1 77 Fa1 § 319 I¢ = 100.2mA and Ig = 100mA?
[Question ID = 1896]

1. 101 [Option ID = 7885]
2. About 1 / 19T$1aT 1 [Option ID = 7888]



3. 501 [Option ID = 7887]
4, 201 [Option ID = 7886]

Correct Answer :-
« 501 [Option ID = 7887]

108) What the damper bars develops, when the rotor speed, in a synchronous machine, becomes
more than the synchronous speed during hunting?

St o3 RAwRa w1 § 9 v Jeastias wefie F qex 71fa €fer & ghre qeasifas afy @ sifts g srch 82
[Question ID = 1902]

1. Inductor motor torque / TTeleh Yh mﬁ [Option ID = 7909]

2. Induction generator torque / SieXeX 93 30T [Option ID = 7910]

3. d.c. motor toque / Teteh 3T #Y 3TEOT [Option ID = 7912]

4. Synchronous motor torque / W@Wﬁéﬁ 311‘5[\0? [Option ID = 7911]

Correct Answer :-
» Induction generator torque / Ssite %X 3MTEOT [Option ID = 7910]

109) In DC circuit, which of the following components is used to reduce the voltage?

DC @fHe #, aieesr N F7 w1 & v =@ geat & ¥ fFw &1 934191 Fa1 srar §2 [Question ID = 1765]

1. Resistor / 9faRIerer [Option ID = 7364]
2. Inductor / 93& [Option ID = 7363]

3. Reactor / Ruerex [Option ID = 7362]
4, Capacitor / §&TfT [Option ID = 7361]

Correct Answer :-
o Resistor / gfaRItre [Option ID = 7364]

110) Which of the following battery is not rechargeable?

frafaf@a il & & Fler @ genarst Fxa A9 7@ 82 [Question ID = 1870]

1. Nickel metal-hydride battery / fe¥eher &1 - 8158793 el [Option ID = 7783]
2. Silver oxide battery / fear 3iferarss et [Option ID = 7784]

3. Lead acid battery / o8 31#aT eI [Option ID = 7781]

4, Lithium-ion battery / forf@a7-3maar sedY [Option ID = 7782]

Correct Answer :-
« Silver oxide battery / feax 3ifeaTss ST [Option ID = 7784]

111) Which of the following groups are examples of insulators?

e g # @ Fla-u1 wag v sePAT FT 330" ¢2 [Question ID = 1851]

1. Plastic, silver, aluminium, wood / TelTi&ee, =idT, TegHITaH, eehsr [Option ID = 7708]
2. Glass, plastic, wood, porcelain / 7oTH, TlTf€ecah, dehar, QifT el [Option ID = 7705]
3. Glass, aluminium, wood, rubber / 7o, TeIFITAIA, oehs, I3 [Option ID = 7706]



4. Air, plastic, copper, wood / arg, TATTEedh, e, ofhal [Option ID = 7707]

Correct Answer :-
« Glass, plastic, wood, porcelain / 7¢I, TallfEedh, dTahsT, MiTelsT [Option ID = 7705]

112) Which of the following part or auxiliary is not used in diesel power station?

AT gTa TeAA H A5t & A SlA-3r1 91€ a1 AdrfFaady w1 g@r Agt fFar Sirar 82 [Question ID = 1791]

1. Lubricating system / offsehfear f&Ee# [Option ID = 7467]

2. Fuel supply system / S5 &t 3mqfct Sotrely [Option ID = 7465]

3. Steam generating system / T 3cUTeah [T [Option ID = 7468]
4, Intake air system / ¥deT gaT YUl [Option ID = 7466]

Correct Answer :-
« Steam generating system / €&H 3cdiger fAEcH [Option ID = 7468]

113) Which of the following diodes is also known as a hot carrier diode?

OFT & ¥ FIT A SRS Y I aEF SIS F T H o) ST ST 82 [Question ID = 1874]

1. Varactor Diode / a¥&eX 3118 [Option ID = 7800]
2. PN Diode / PN 3115 [Option ID = 7797]

3. Schottky Diode / Ticehr 31315 [Option ID = 7799]
4, LED / TeIS3Y [Option ID = 7798]

Correct Answer :-
o Schottky Diode / Taicehr 31318 [Option ID = 7799]

114) Which of the following scales offers widest range for measurement through an instrument?

Frafaf@a & @ Sl a1 YA v IURIT F ATCIH F AT F fAT 719 HHAT 9STe FI4T1 8?2 [Question ID =
1881]

1. Logarithmic Scale / eTgaToTeh YT [Option ID = 7827]
2. Exponential Scale / & ST [Option ID = 7825]

3. Linear Scale / 3@ AT [Option ID = 7826]

4, Square-law Scale / g31-fa3g# YA [Option ID = 7828]

Correct Answer :-
» Logarithmic Scale / @E[aT0Teh YT [Option ID = 7827]

115) Which of the following is used to neutralize the Ferranti effect in the medium and long
transmission lines?

AegH 3R ol IRYOT ATSAT FH BT TTT FF AW w3 F v [eafaf@a & v w1 3T frar sarg?
[Question ID = 1886]

1. Shunt capacitor / 2 F4TRT [Option ID = 7847]

2. Series resistor / S@elT 3/@xIEe [Option ID = 7846]
3. Series capacitor / S[@eT §UTRT [Option ID = 7845]
4, Shunt reactor / ¢ Ruarex [Option ID = 7848]



Correct Answer :-
« Shunt reactor / 27¢ Rueex [Option ID = 7848]

116) Which of the following semiconductor materials is used to make green LEDs?

Arafaf@a srdaras gerat & & Fia 91 &Y LED a9 & v 393ier 741 5mar 82 [Question ID = 1871]

1. Indium Gallium Phosphide / 31 3tfo=re Biewss [Option ID = 7788]

2. Gallium Arsenide Phosphide / 3feraa 3miferss ®iewss [Option ID = 7787]

3. Gallium Arsenide / 3forrsT 3mda1S3 [Option ID = 7785]

4. Aluminium Gallium Arsenide / TegfAfag# Aferaa 3mdaTSS [Option ID = 7786]

Correct Answer :-
« Indium Gallium Phosphide / E8reT 3tforzer wirwss [Option ID = 7788]

117) Which of the following are the functions of a transistor?

fFAfa@a & ¥ FiT ¥ gifowex F & §2 [Question ID = 1875]

1. Rectifier and fixed resistor / Temere 3R E2R 9okt [Option ID = 7804]

2. Switching device and fixed resistor / 39e<0T Fad el AR AT gfaviers [Option ID = 7801]
3. Tuning device and rectifier / 3THIUT ST THSTT AT X TN [Option ID = 7802]

4, Variable resistor and switching device / 9Rad=a wfaRitre 33X FafRisr 3geor [Option ID = 7803]

Correct Answer :-
« Variable resistor and switching device / 9Rac= gfarieres 31 Rafier 3ueor [Option ID = 7803]

118) Which of the following is correct about the gain of a cascade amplifier?

farafaf@a F @ #l @1 Fy7 FHs TFawER #1 gfY F ar 7 ¥E 82 [Question ID = 1878]

1. Total gain is a sum of individual gains / el gfg eTTFITT g T I & [Option ID = 7816]

2. Total gain is a product of voltage and current gains / &l gfg dleesT 3R URT gfig FT JUEAH g1 [Option ID =
7814]

3. Total gain is a product of individual gains / &l g cATFIT g HT FUTTHe & [Option ID = 7813]

4. Total gain is a ratio of individual gains / el i afFATd gfg T 31AuTdT & [Option ID = 7815]

Correct Answer :-
« Total gain is a sum of individual gains / el & cATFAIT Jig T I & [Option ID = 7816]

119) Which of the following electrical element exhibits non-linear voltage-current characteristics?

farafaf@a fagga dcal # & Fila a1 IR-1@F drees-urT fRvanst F1 geeia F3a1 82 [Question ID = 1866]

1. Resistor / gfaRere [Option ID = 7768]
2. Inductor / 93& [Option ID = 7767]

3. Diode / 3118 [Option ID = 7766]

4, Capacitor / ST [Option ID = 7765]

Correct Answer :-
« Diode / 31315 [Option ID = 7766]



120) Which of the following statements is correct about capacitors?

FIRAeT & IR & AFT & T FiF-91 F9T T 82 [Question ID = 1844]

1. None of these / 3737 & g 3T 5T [Option ID = 7680]

2. The capacitor disconnects short circuit in direct current (DC) circuits and current in alternating current (AC)
circuits / FUTHEX Qe Tfthe F TcTeT arT (3)) Tfhe 7 3R Fe FI ycamadt aRT () afee 7 Baaaese &
&aT & [Option ID = 7678]

3. The capacitor disconnects short circuit in both direct current (DC) and alternating current (AC) circuits / $a@eX
ST IoTeT URT (31 3R Tearadt 9RT (THY) Afhe gl # 2IT¢ Afhe T f3Taheiae sar g [Option ID = 7679]

4. The capacitor disconnects current in direct current (DC) circuits and short circuit in alternating current (AC)
circuits /3T e  TcTeT URT () Afdhe & 31T gczradt amr (v # Qi afthe Badaee R ar g
[Option ID = 7677]

Correct Answer :-
» The capacitor disconnects current in direct current (DC) circuits and short circuit in alternating current (AC)

circuits /HUfAEX T T TcIeT ORT (3T Tithe # 3R gcaradt 9rT (T # o1 Tfthe Basadge s aarg
[Option ID = 7677]

121) Which of the following radioactive byproducts releases from nuclear reaction?

T IRt 39-3urel & ¥ Sl @1 waATYr 9fAfRA ¥ Aear 82 [Question ID = 1898]

1. All of these / @efT faeed [Option ID = 7896]
2. Cesium / Ef&Z# [Option ID = 7893]

3. Tritium / fefezrer [Option ID = 7895]

4, Strontium / TEifeTa [Option ID = 7894]

Correct Answer :-
o All of these / T fased [Option ID = 7896]

122) Which of the following DC generators is employed in arc welding?

feafaf@a & @ Fi 91 DC STa¥ex 3 AT # wriRa §2 [Question ID = 1879]

1. Shunt / 2re [Option ID = 7820]

2. Cumulative Compound / a2t #4133 [Option ID = 7817]
3. Series / #@aT [Option ID = 7819]

4, Differential Compound / f@%iges s#d13s [Option ID = 7818]

Correct Answer :-
« Differential Compound / fa%ee &#413s [Option ID = 7818]

123) Which of the following power plant requires the largest area to produce same amount of
electricity?

AF T & @ FIT A 337 TIT FY FAT FT TATT AT HT 3G FIA & AT Ta& 37fAF &7 Y 3maeywhar 8?2 [Question
ID = 1884]

1. Diesel power plant / 8YsTel Sl &I [Option ID = 7837]

2. Nuclear power plant / TR&TT] Ssit &4 [Option ID = 7838]
3. Solar power plant / G 3T @37 [Option ID = 7839]

4, Thermal power plant / Fs#T FaIT &I [Option ID = 7840]



Correct Answer :-
o Solar power plant / G 4T @37 [Option ID = 7839]

124) Which of the following generators is used in conjunction with turbines in a Hydro power plant?

fArafaf@a & @ Fl a1 S UF §133) ol §IAF A TasT F WY WA F qA1T fHAT ST 82 [Question ID =
1885]

1. Wound rotor Induction generators / g5 €gofeh YRUT F=eX [Option ID = 7844]

2. Salient pole Synchronous generators / H&I Gl eI STaiied [Option ID = 7842]

3. Squirrel cage Induction generators / Thgel shef YRUT STaieX [Option ID = 7843]

4. Cylindrical core Synchronous generators / SefsTTehR ShIX THGIeleh SfelieX [Option ID = 7841]

Correct Answer :-
« Salient pole Synchronous generators / &I Al FHbITeleh SfeikeX [Option ID = 7842]

125) Which of the following is the Curie temperature (in Kelvin) of Iron (Fe)?

famafaf@a & @ #l7 @1 e (Fe) #1 77 araarre (Feast #) 82 [Question ID = 1872]

1. 948 [Option ID = 7791]
2. 713 [Option ID = 7789]
3. 1043 [Option ID = 7792]
4. 858 [Option ID = 7790]

Correct Answer :-
o 1043 [Option ID = 7792]

126) Which one is the schematic arrangement of steam power station?

19 fgga ¥ A Ferarag sqa€yr i W §? [Question ID = 1783]

1. Coal and ash handling, steam generating plant, steam turbine, alternator, feed water, cooling arrangement /
FIIT 3R TG FHTAT, 119 3c9Teeh I, 81T a3, JTecaiey, B8 5T, fNaetsT saaEr [Option ID = 7433]

2. All of these / 3T fdsew [Option ID = 7436]

3. Steam generating plant, steam turbine, feed water, alternate, cooling arrangement / HT9 3cdTge I, HTT
TS, IS T, dhieddh, efidelsT egaedm [Option ID = 7434]

4. Cooling arrangement, feed water, alternator, steam generating plant, coal and ash handling / 2itdelsT cgaE2r,
$I8 Il , 3iTeciael, HIY 3cTeeh AT, FHiTel 3R @ FHTT [Option ID = 7435]

Correct Answer :-

« Coal and ash handling, steam generating plant, steam turbine, alternator, feed water, cooling arrangement /
I 3R TG FHST, HTT 3cTTeah T, HTT TS, 3iTecaex, B 5T, eNdelsT egawm [Option ID =
7433]

127) Which one the following is not a part of steam power station?

frafafa & ¥ Hier &1 o119 Rigge &5 &1 e 7€ §2 [Question ID = 1757]

1. Prime mover / #&T dTefsh [Option ID = 7330]
2. None of these / =131 & &I &Y sTgT [Option ID = 7332]
3. Condenser / 318X [Option ID = 7329]



4, Water treatment plant / STel 9si¢r 49 [Option ID = 7331]

Correct Answer :-
« None of these / 378 & @IS 8ff Agr [Option ID = 7332]

128) Which one acts as a mechanical rectifier in the process of converting AC current into DC
current where the emf is induced in the armature winding?

AC $IRT FT DC 4RT & d&eler &7 9fHaT & ifia IFEHIAR &7 F1F FieT FI97 1 EMF Faa o & IRaT §?
[Question ID = 1770]

1. Rheostat / Raeee [Option ID = 7382]

2. Rotor / guTsh [Option ID = 7384]

3. Commutator / S&geex [Option ID = 7381]
4, Stator / T¢eX [Option ID = 7383]

Correct Answer :-
+ Commutator / ##g¢eX [Option ID = 7381]

129) Which one of the following device is used as a protection against lightening?

Arafaf@d Basw # ¥ Fa v 1 el & G871 F T A g39T f7ar S1ar 82 [Question ID = 1796]

1. Surge diverters / 31aer 3rgac [Option ID = 7487]

2. All of these / 3T fdsed [Option ID = 7488]

3. Overhead ground wires / 3{Tatgs ${f#eTd d} [Option ID = 7486]
4, Earthling screen / 3121foiaT ThieT [Option ID = 7485]

Correct Answer :-
o All of these / T fased [Option ID = 7488]

130) The law of electromagnetic induction is also called:-

Rregagedr 9or & frger &t 3l frw AT / ST SITaT 82 [Question ID = 1850]

1. Joule's law / Sef @ ferzr# [Option ID = 7704]

2. Faraday's law / %13 &7 f@g& [Option ID = 7703]
3. Coulomb's law / &ell# T &¥# [Option ID = 7702]
4, Ohm's law / 3i1e &7 fa&& [Option ID = 7701]

Correct Answer :-
« Faraday's law / %12 &7 fa@# [Option ID = 7703]

131) Gold is an example of which of the following?

ot & & | Tt 38T6X0r 82 [Question ID = 1852]

1. Conductor / Fs&eX [Option ID = 7709]

2. Semiconductor / FsaeX [Option ID = 7711]
3. Magnet / gss [Option ID = 7712]

4. Insulator / $geleX [Option ID = 7710]

Correct Answer :-



o Conductor / &3&eX [Option ID = 7709]

132) What can we reduce by using thin laminations in a machine?

et 3 gaelt deiRerT FT 39RT FEF T FIT FH F FHha 82 [Question ID = 1774]

1. Hysteresis losses / fgecR&rT &fer [Option ID = 7398]
2. Iron losses / ilg &1fcr [Option ID = 7399]

3. Eddy current losses / Tar 4R &1fd [Option ID = 7400]
4, Copper losses / dreT &fa [Option ID = 7397]

Correct Answer :-
« Eddy current losses / T3 &R &1fa [Option ID = 7400]

133) In a combinational circuit, which is used to send more data through a single transmission?

TS FifFaaeeTd Hihe A, fFd T WEROT & ATEAH & 378w 37 A9 & fow 3uA1er fFA1 Si1ar 82 [Question ID =
1838]

1. Encoder / TeshIEX [Option ID = 7656]

2. Demultiplexer / f8Heécearax [Option ID = 7655]
3. Multiplexer / #eccaldax [Option ID = 7654]

4. Decoder / T8It [Option ID = 7653]

Correct Answer :-
o Multiplexer / #Fecrceldax [Option ID = 7654]

134) Heat is transferred simultaneously by condition, convection and radiation:-

s feufa, dager 3k fafeor qarr o arer sumeafa i s 8:-
[Question ID = 1900]

1. During melting of ice / % & frereleY & &ikreT [Option ID = 7902]

2. Inside boiler furnaces / sTgeR #fEAT & 37eT [Option ID = 7901]

3. From refrigerator coils to freezer of a refrigerator / ¥PhelReT dIsel & Tah IHoRe & IS d [Option ID =
7904]

4, Through the surface of the insulted pipe carrying steam / #T9 o STy §§ FSARIYT 9189 T Tdg & ATEITH &
[Option ID = 7903]

Correct Answer :-
« Inside boiler furnaces / STTeR $1f2aT & 3ieT [Option ID = 7901]

135) Which material used in commutator brushes?

FFGEE F A FiT A TaTe HT 39T T A1 &2 [Question ID = 1771]

1. Mica / 3731s [Option ID = 7386]

2. Carbon / et [Option ID = 7385]

3. Copper / dteT [Option ID = 7387]

4, Cast iron / s=dr dligT [Option ID = 7388]



Correct Answer :-
« Carbon / &resT [Option ID = 7385]

136) Which motor is used in the centrifugal pump?

FeaTqq Y TFY F FiT A AT HT 39ANT FAT ATGT 82 [Question ID = 1766]

1. Split phase induction motor / f&cere & 9ROT AeX [Option ID = 7365]

2. Shaded pole induction motor / STTfehd Grel YOT AeX [Option ID = 7368]

3. Squirrel cage rotor / Thgel &t goTeh [Option ID = 7366]

4, Capacitor start /Capacitor run induction motor / FEMRT FeT¢ / TUTRT o 90T #AeX [Option ID = 7367]

Correct Answer :-
« Split phase induction motor / f&cere & YI0T AleX [Option ID = 7365]

137) Select examples of secondary cells or rechargeable batteries.

{Fsh do a1 Rarsfaa d<ft & 3ame70r 9+ | [Question ID = 1847]

1. Lithium-ion, Alkaline battery, Glass battery, Magnesium-ion battery / fof@=rsT 31T, Teshrolled sedl, TaTd s,
HIATATH-3mIT Fedr [Option ID = 7689]

2. Lithium-ion, Paper battery, Glass battery, Magnesium-ion battery / fof@=s 3mae, TR S, soma dedi,
HIATATH-3mT=T dedi [Option ID = 7692]

3. Lithium air, Alkaline battery, Glass battery, Magnesium-ion battery / Tif2=eT TR, Tewhrailel s, IoT ST,
HIANTATH-3mIT ST [Option ID = 7691]

4, Lithium-ion, Lead acid battery, Glass battery, Magnesium-ion battery / faif@=eT 3ma=, o5 vfds aedi, 7amd <3,
HIATAIH-3TIT T [Option ID = 7690]

Correct Answer :-

« Lithium-ion, Lead acid battery, Glass battery, Magnesium-ion battery / foif2=rsT 311, o3 vfds e, sarma
SelY, HAvN -3 e [Option ID = 7690]

138) Select the three methods of improving commutation.

fafasa & gur & e gl #1491 [Question ID = 1805]

1. Ring windings, Armature winding and Series commutation / Rer argfsar, 3mer agfeer 3k ¥ Fegee=
[Option ID = 7522]

2. Resistance commutation, Voltage Commutation and Compensating Windings / STciRTer hage2Ie, alee hegeere
3 arfaqfct arsfEer [Option ID = 7521]

3. Capacitance commutation, Voltage Commutation and Series Windings / $af&eere hFYCRAe, dleca] e 3R
et arsfaer [Option ID = 7523]

4. Capacitance commutation, Inductance Commutation and Compensating Windings / $af&eereT segeere,
TSI hFgeeuet 3R &TfcaqTer arsfsar [Option ID = 7524]

Correct Answer :-

« Resistance commutation, Voltage Commutation and Compensating Windings / 9faRrer EFF{EQIH, drec
Frgeere AR arfaqfd argfser [Option ID = 7521]

139) A synchronous motor can operate at:-

TF JeaFlias AeT gaTiad gidl 8:-



[Question ID = 1904]

1. Lagging power factor only / shdel 9Rases erfedd &Re 9X [Option ID = 7917]

2. Lagging, leading and unity power factors / aRasest, 31aoft 3R tehwgeh AfFa R [Option ID = 7919]
3. Leading power factor only / dael 33r0ft eIfdFd R IR [Option ID = 7918]

4. None of these / H & &Ig & T [Option ID = 7920]

Correct Answer :-
« Lagging, leading and unity power factors / RasesT, 31aoft 3T teheas Qrfdd FRe [Option ID = 7919]

140) Which instrument is used to detect the small electric current?

oY faggd 4T &1 gar oema & AT Hier |1 39T 3UFNT AT S 82 [Question ID = 1763]

1. Voltmeter / areeaieX [Option ID = 7353]

2. Wattmeter / are#eX [Option ID = 7355]

3. Multimeter / FecrHTeX [Option ID = 7354]

4. Galvanometer / 3ted=teiex [Option ID = 7356]

Correct Answer :-
« Galvanometer / rea=atdTeT [Option ID = 7356]

141) According to Fleming's right hand rule, what does the thumb indicate?

FATHT & a1feet 7 & et & TR, 39S & FA1 Whal fAeran §2 [Question ID = 1776]

1. Direction of the motion of the conductor relative to the magnetic field / dsrehrar &1 & |TJeT Felleleh Y T r
f&er [Option ID = 7405]

2. Direction of the induced or generated current within the conductor / gaTelsh & T AR IT 3cTeeT 4R I feem
[Option ID = 7407]

3. Direction of the magnetic field / T &= s fe=ir [Option ID = 7406]

4, None of these / 318 & Ig 8T sigi [Option ID = 7408]

Correct Answer :-

« Direction of the motion of the conductor relative to the magnetic field / TS &1 & ATIET Fareleh T a1l
r feerm [Option ID = 7405]

142) dv/dt protection is provided to the SCR by:-

THHNIR FY ST/ SEY G, F G@rT YT A STl 8:- [Question ID = 1817]

1. Connecting a capacitor & resister in parallel with the device / 3UaRUT & AT TATATTR H Teh TR 3R
gfeRieres & Sige [Option ID = 7571]

2. Connecting a capacitor in parallel with the load/ ¥R & TATIGR & Teh TETRS & S8 [Option ID = 7569]

3. Connecting an inductor in series with the load / $1R & &Y 4@elT # Teh URF I Siseht [Option ID = 7570]

4, Connecting an inductor & resister in parallel with the device / 30T & AT AR H Teh IRT 3R gfaias
SgeT [Option ID = 7572]

Correct Answer :-

« Connecting a capacitor & resister in parallel with the device / 39T & TTY FHATATCR H T TUTRT 3R
JiRIEreh & St [Option ID = 7571]



Onsider the two transistor analogy of SCR, if al & if a2 are the common-base current gains of both
the transistors then to turn-on the device:-

THHIANR & AT &) Tifoeel A §, IR a1 3R IR a2 =1 wmeT 3muR 4R §, St @t gifoeer @ I 7 F A
F F fT amer gred w §, a:- [Question ID = 1822]

1. al — a2 should approach zero / al - a2 Y= gl=IT =TT [Option ID = 7591]

2. al + a2 should approach zero / al + a2 &I Y= ¥ HGH =T AT [Option ID = 7589]
3. al + a2 should approach unity / al + a2 & Teh & HUh AT ATfeT [Option ID = 7592]
4. a1 x a2 should approach unity / al x a2 &I Teh ¥ Y LT BT [Option ID = 7590]

Correct Answer :-
« al + a2 should approach unity / al + a2 &t Teh ¥ U T AT [Option ID = 7592]

144) Carborundum is also known as:-

FRANEA F 3 FT A1 F 17 11 82 [Question ID = 1854]

1. Silicon Carbide / f&ferasT s1aTss [Option ID = 7718]

2. Germanium / ST faT# [Option ID = 7717]

3. Lead sulphide / o8 @ewrss [Option ID = 7719]

4, Gallium arsenide / 3forgesr 3133 [Option ID = 7720]

Correct Answer :-
« Silicon Carbide / f&ferersT Fra1ss [Option ID = 7718]

145) The constant speed of a synchronous motor can be changed to new fixed value by which of the
following methods?

TF Jeadiad AT I e afa i@ Rftat & @ fred qam v Fuifa aea # aqar s awar 2
[Question ID = 1905]

1. By changing the applied voltage / ®T9] aledal I Scele [Option ID = 7923]

2. All of these / T3t fdseT [Option ID = 7924]

3. By changing the supply frequency / 3iTqfi 3TTgfce st a&ere) [Option ID = 7921]

4, By interchanging any two phases / T 8T T TRUT & 3TTETT-9gTeT s [Option ID = 7922]

Correct Answer :-
« By changing the supply frequency / 311’3% }Tlac‘%r I Fgor [Option ID = 7921]

146) Constantan is an alloy which contains metals.

Flereed T 7 ug & ot e enfAer €1 [Question ID = 1888]

1. Silver and tin /=&y 3R f&a1 [Option ID = 7854]

2. Copper and tungsten / aTeT 3R €aresT [Option ID = 7853]
3. Copper and nickel / dTaT 3R fe¥eher [Option ID = 7855]

4, Copper and zinc / disT 3R fSie [Option ID = 7856]

Correct Answer :-
« Copper and nickel / areT 3R faeer [Option ID = 7855]



Thermoelectric cooling systems make use of which effect to create a heat flux between the junction
of two different types of materials?

yafgafFes Hfdr Rvew o Affies vor & wemt & Swee & & v fic Foaw a0 & fovw v gema &1 sa2r
3 £2 [Question ID = 1858]

1. None of these / 3a# & ig 8 A& [Option ID = 7736]
2. Peltier effect / 9feivar wéa [Option ID = 7733]
3. Reuters effect / e 98119 [Option ID = 7734]
4, Seebeck effect / e 3T [Option ID = 7735]

Correct Answer :-
o Peltier effect / 9ferTax 9@ [Option ID = 7733]

148) Calculate the scale span of the instrument that is calibrated between 20 bar and 200 bar and
used for the measurement of pressure.

3 3YHIOT T TRATT HAT Y 7017 H{ 5@ 20 91 3 200 IR & i 3enferag Far g iR Gd e F A &
T 3ggher far SiTar #1

[Question ID = 1894]

1. 20 bar / 1 [Option ID = 7877]

2. 180 bar / S [Option ID = 7879]
3. 190 bar / X [Option ID = 7878]
4. 220 bar / X [Option ID = 7880]

Correct Answer :-
e 180 bar / 9 [Option ID = 7879]

149) calculate the current (in Amperes) flowing in the conductor when 5 x 1019 electrons are
flowing per second through it.

HTeleh A ) aTell &RT FY (TFAIT #) 0T Y 579 599 5 x 1012 goraeter gy 9z 98 @ &
[Question ID = 1868]

1. 5 [Option ID = 7775]

2. 3.125 [Option ID = 7774]
3. 8 [Option ID = 7776]

4. 1.6 [Option ID = 7773]

Correct Answer :-
« 8 [Option ID = 7776]

150) Calculate the gauge factor of a strain gauge, ifthe value of resistance is 152
Ohms,whichchanges by 5 Ohms for 5000 micro strain.

I wfeRer 1 A1 152 31 giar § & Repfaard & yamas R 1 v #¥, S 5000 #AH RAgfa & v 5 siw
T d&el ST g1



[Question ID = 1895]

1. 5.58 [Option ID = 7882]
2. 6.58 [Option ID = 7881]
3. 3.68 [Option ID = 7884]
4. 4.58 [Option ID = 7883]

Correct Answer :-
e 5.58 [Option ID = 7882]

Topic:- UPPCL_Feb18_JETE_Set01_GA

1) Which of the following options stands true for Base Erosion and Profit Shifting (BEPS)?

A T & @ Fia a1 AdeT a7 Fera 3R A137 TG (BEPS) F Weast & ¥ 82
[Question ID = 281]

1. Free movement of goods across countries / &2iT & sier ATel &l fa: Y[eeh TaTSiTel [Option ID = 1344]

2. Free movement of skilled professional across countries / ¢2if 3 E?QIT»T RYaRT Fr fAaTer frarser [Option ID =
1343]

3. Tax avoidance strategy / <&@ & STd & I0T=ATTel [Option ID = 1342]

4, Resolving NPA crisis in banking sector / ST &1 # NPA (3R fasuifea dufed) Hehe &Y g &t [Option ID =
1341]

Correct Answer :-
« Tax avoidance strategy / &&8 & §9Td I 0TI [Option ID = 1342]

2) Which of these is the largest brackish lake of India?

A A FieT T HRA T FaF T @R 9T A her 2
[Question ID = 288]

1. Pulicat lake / fererehct Ffter [Option ID = 1370]
2. Chilka Lake / et &fter [Option ID = 1369]
3. Wular lake / geR 3fter [Option ID = 1371]

4, Pangong Tso / 9reTieT c&r [Option ID = 1372]

Correct Answer :-
« Chilka Lake / Rreer siter [Option ID = 1369]

3) Which of these is the best description of Probiotics?
IH A NARATEFT FT Ta@ TEF quie HieT a1 82
[Question ID = 284]

1. Bacterial products having healing or curative power / 39X IT 9167 I Gy Gﬁ'qTU;r 3c4re, [Option ID =
1353]



2. Fungal products having healing or curative power / 39aR a1 Ja1&TH feFe Uy HHET 3cdre [Option ID =
1354]

3. Archea products having curing or healing power / 3R 3caTel T 3UTR AT AeTeTe QAfFd [Option ID = 1355]

4, None of these / 35131 & 15 it 8T [Option ID = 1356]

Correct Answer :-

« Bacterial products having healing or curative power / 39aR T J9TeTH A &MY SAAT] 3cdTe [Option ID =
1353]

4) Which award is called the oscar of Sports?
foFer TR ) Wal 1 3iFR Fed 82
[Question ID = 278]

1. Lady Byng memorial trophy / oIgT f&far &5fct it [Option ID = 1332]

2. Laureus World Sports Awards / SRT& des TAeH 31arsd [Option ID = 1330]
3. ESPY awards / ESPY PR [Option ID = 1329]

4. Stanley Cup / ®&sTell 9 [Option ID = 1331]

Correct Answer :-

o Laureus World Sports Awards / ATRTT des TAIEH 37a1sd [Option ID = 1330]

5) Which ministry launched the Kayakalp awards in the year 2015?

e FaTew & a¥ 2015 F FAHET TERR FT YARA Far?
[Question ID = 276]

1. Ministry of agriculture and farmers welfare / S % 3R feh@TeT edmoT #ATerd [Option ID = 1323]
2. Ministry of health and family welfare / Tarr2T 3R RAR SHedToT HATST [Option ID = 1322]

3. Ministry of skill development / &higreT faera &Hamerar [Option ID = 1324]

4, Ministry of labour and employment / %8 3{R Y=T9TR HFTT [Option ID = 1321]

Correct Answer :-
« Ministry of health and family welfare / Tareeg 3R aRAR searor H#a1er [Option ID = 1322]

6) Which one of the following Industry does not fall into the category of Core Industries identified
by IIP?

frafaf@a seaiet & & Fier a1 3g@ver 1P gar Rfeea #qer seet i Avft F 78t mrar 82
[Question ID = 283]

1. Cement / @#e [Option ID = 1350]

2. Coal / sIIrelr [Option ID = 1349]

3. Mining / @eleT [Option ID = 1352]

4. Natural gas / STepfcies 37 [Option ID = 1351]

Correct Answer :-
e Mining / @aeT [Option ID = 1352]



7) Which article of Indian Constitution has the common law doctrine of pleasure?
AR Wit & frw T & st aeg &1 i amar 82
[Question ID = 275]

1. Article 123 / 3isfese 123 [Option ID = 1317]
2. Article 368 / 3ieT=de 368 [Option ID = 1320]
3. Article 213 / 3= 213 [Option ID = 1318]
4. Article 310 / 3=t 310 [Option ID = 1319]

Correct Answer :-
o Article 310/ Hﬂﬁ‘q’ 310 [Option ID = 1319]

8) Which revolutionary leader was involved in the Chittagong armory raid?

FiT ¥ FifaeRY Ad1 RgEier 6 gaEEmmR o & enfaT 92
[Question ID = 277]

1. Sheikh Mujibur Rahman / Q‘I’@W T&ATT [Option ID = 1328]
2. Rajguru / T=1eT% [Option ID = 1325]

3. Surya Sen / I =T [Option ID = 1327]

4. Chandrashekhar Azad / Tg2I@R 31TsiiG [Option ID = 1326]

Correct Answer :-
+ Surya Sen / §& @1 [Option ID = 1327]

9) Which country recently acquired a stake in the Hambantota port of Sri Lanka?

e e F g1er € # sl F gaeIeler sewene A fREagRY &1 rfargor fFFar ar?
[Question ID = 280]

1. U.S.A [ @ged s 31#ishT [Option ID = 1339]
2. Saudi Arabia / @331 3R« [Option ID = 1338]
3. India / @A [Option ID = 1337]

4. China / @eT [Option ID = 1340]

Correct Answer :-
« China / ©@1sT [Option ID = 1340]

10) Which is the oldest Parliamentary democracy in the world?
AT T FaA AT FHET SNheld HieT AT &2
[Question ID = 290]

1. Greece / I [Option ID = 1379]
2. Iceland / 3@l [Option ID = 1377]
3. Poland / 9ol [Option ID = 1380]



4. England / §3ol3 [Option ID = 1378]

Correct Answer :-
o Iceland / 3m8®el3 [Option ID = 1377]

11) Where is the headquarter of Organisation of Petroleum Exporting Countries (OPEC) located?

Yefaraer foratas Gt & Wereer 3% (OPEC) FT AT Fgl 7Ud 62
[Question ID = 286]

1. Riyadh / Rrer [Option ID = 1361]
2. Tehran / @&t [Option ID = 1363]
3. Vienna / @@=t [Option ID = 1362]
4. Cairo / 1831 [Option ID = 1364]

Correct Answer :-
e Vienna / fawar [Option ID = 1362]

12) In which of the following states is the Rajgir Mahotsav celebrated?

TSR AEIcHT 514 & fh T F AATAT ST 82
[Question ID = 273]

1. Uttar Pradesh / 3caX 9¢2r [Option ID = 1309]
2. Madhya Pradesh / #&T 92T [Option ID = 1312]
3. Gujarat / 9[sNT [Option ID = 1311]

4. Bihar / f9@R [Option ID = 1310]

Correct Answer :-
o Bihar / f9gR [Option ID = 1310]

13) In which country/countries will the ICC Cricket world cup 2023 be played?

e ger/een 7 s fFshe fava 9 2023 War sITwa?
[Question ID = 291]

1. India / AT [Option ID = 1381]

2. England and Wales / 3¢l 31k de& [Option ID = 1382]
3. West Indies / a¥< 3317 [Option ID = 1383]

4. South Africa / &f&ToT 3hieT [Option ID = 1384]

Correct Answer :-

» India / XA [Option ID = 1381]

14) Naseem Al Bahr is the Naval exercise between India and which other country?

T Irer TeX R IR e gEX Ao & e 1 AR s @2



[Question ID = 279]

1. Iran / 3T [Option ID = 1333]

2. Qatar / X [Option ID = 1335]

3. Mangolia / #Famiferar [Option ID = 1334]
4, Oman / 37T [Option ID = 1336]

Correct Answer :-
e Oman / 3T [Option ID = 1336]

15) Baglihar is situated in which of these states?

TR oy Tog # Rag €2
[Question ID = 289]

1. Himachal Pradesh / fg#Taer eer [Option ID = 1375]

2. Uttar Pradesh / 3caX 9eer [Option ID = 1374]

3. Madhya Pradesh / #&gweer [Option ID = 1373]

4. Jammu and Kashmir / ST## Td &?#R [Option ID = 1376]

Correct Answer :-
+ Jammu and Kashmir / ST## Td &?#HR [Option ID = 1376]

16) Name the operation which led to the capture and death of Osama Bin Laden?

AT 3T AR Y w3 Al F T FA 10 39X &1 A1 F47 91?7
[Question ID = 292]

1. Operation Neptune Spear / 3R A9=geT FHAT [Option ID = 1385]
2. Operation Urgent Fury / 3fTeReIeT 3tsic vl [Option ID = 1388]

3. Operation Acid Gambit / 32T Tis AfFse [Option ID = 1387]

4, Operation Evening Light / 3fToRere 8afieT @se [Option ID = 1386]

Correct Answer :-
» Operation Neptune Spear / 3Rl Au=gsl T [Option ID = 1385]

17) Name the industrialist whose biography is depicted in the book "Beyond the last blue
mountain”.

"fA1es g AT S A" ATHF TEAS hE et Y sfaed 82
[Question ID = 287]

1. Dhirubhai Ambani / #%sT$ 31FaT=ir [Option ID = 1366]
2. J.R.D Tata / St. 37R. I, Ter [Option ID = 1368]

3. Anousheh Ansari / 347{8%‘631@@ [Option ID = 1365]
4, Rishabh Dev / #wsT &a [Option ID = 1367]

Correct Answer :-
e J.R.D Tata / St. 3. 3. @rer [Option ID = 1368]



18) The famous Biennial Thakurani Jatra festival was recently held in

g gfaaTiie st T Alglcea grar & i gam |
[Question ID = 282]

1. Telengana / ciel@T=T [Option ID = 1346]
2. Assam / 319 [Option ID = 1347]

3. Meghalaya / #gTers [Option ID = 1348]
4. Odisha / 31f32m [Option ID = 1345]

Correct Answer :-
o QOdisha / 31f32m [Option ID = 1345]

19) The "Desert of Death" originally named as "Dasht-e-Margo" is located in which country?

"ggAd-U-AT" T areafa® A "HiT 1 i@ § a R g A fya g2
[Question ID = 274]

1. Saudi Arabia / 3cr 3Xa [Option ID = 1315]
2. Pakistan / 9feredrsT [Option ID = 1313]

3. Iraq / 30& [Option ID = 1316]

4, Afghanistan / 3T%aTfeedTeT [Option ID = 1314]

Correct Answer :-
o Afghanistan / 3T &dreT [Option ID = 1314]

20) The Grizzled Squirrel wildlife sanctuary is located in which state?

sarer freredl aeaia AreaRuy fore s F U 872
[Question ID = 285]

1. Tamil Nadu / df&e=rg [Option ID = 1358]
2. Uttarakhand / 3caxt@s [Option ID = 1357]
3. Chattisgarh / Scdr&?Tg [Option ID = 1360]
4. Gujarat / I[sR1 [Option ID = 1359]

Correct Answer :-
« Tamil Nadu / df#eferg [Option ID = 1358]

Topic:- UPPCL_Feb18_JETE_Set01_RS

1) Which letter should come in place of "?"

"2?" &Y FAIE FieT AT & HTTIM?



[Question ID = 881]

1. L [Option ID = 3741]
2. N [Option ID = 3742]
3. J [Option ID = 3744]
4. O [Option ID = 3743]

Correct Answer :-
o ] [Option ID = 3744]

2) Which two mathematical operators should be interchanged to make the under given equation
mathematically correct?

et Y 1T Reg) Y S1eTE 39w F Feerer W A R araw giEor T v @ 9 @y se?

[8x4=12/3-12+16]
[Question ID = 297]

1.Both x, / & x, +
X, / T4 X, + &kt [Option ID = 1408]
2. x, + [Option ID = 1406]
3. X, / [Option ID = 1405]
4. =, - [Option ID = 1407]

Correct Answer :-
e =, -[Option ID = 1407]

3) Which day of the week was it on 14" August 19472

14 39 T 1947 g% &1 i A7 & AT?
[Question ID = 308]

1. Saturday / 21fetaX [Option ID = 1452]
2. Monday / ®1HaR [Option ID = 1449]

3. Thursday / §&€qfar [Option ID = 1451]
4. Wednesday / §€dR [Option ID = 1450]

Correct Answer :-
» Thursday / §g&afdar [Option ID = 1451]

4) Given below is a question and two statements humbered 1 and 2. Read both the statements and
then decide which statements are sufficient to answer the given question.



Question: Three different prime numbers are selected. What is the largest of these numbers

Statement 1: The product of three different prime numbers is 442,
Statement 2: All the chosen numbers are less than 50.

A1 v warer AR 3ER 3 A FUT 1 09 2 R a7 §, ¥ Fyal F eare F 92 3’ a7 Y ward #1 49" A F
AT 577 @ Pl F FuT I |

weeT: clieT 39T AHTST HEAT3HT FT T T AT ¥ | 399 A G 99) HEar F=41 §2

FYUA 1: AT 310797 ST &3 FT 391G 442 &
FYeT 2: et A WY FEATW 50 F FA 5|

[Question ID = 299]

1. Both 1 & 2/ 1 Tg 2 &=t [Option ID = 1416]

2. Neither 1 nor 2 / AT 1 AT&T 2 [Option ID = 1415]
3. Only 1/ %de 1 [Option ID = 1413]

4, Only 2 / adf 2 [Option ID = 1414]

Correct Answer :-
o Only 1/ ader 1 [Option ID = 1413]

5) Given below are three phrases that are made of common words of English language and their
corresponding translation in another complex code language.

AT 373t 1T & ereal @ a1t et arerTer v T ¥ 3 Ay & v Sifee amer F 35 sreqarfea s aneaner off R
T §|

Phrases (ar3ier) Coded Phrase (F13 $T9T & JeJarfed aTeFier)
Large Old Indian Fish Market =========>[ Kip Lut Jom Pep Hoj ]

Old Empty Fish Pond =========>[ Hoj Gup Kip Ber ]

Large Fish Is Empty =========>[ Ber Jom Hoj Nuk ]

"Nuk" is the code for .
"Nuk" ¥ foT ygaa #1359

[Question ID = 294]

1. Is [Option ID = 1395]

2. Fish [Option ID = 1394]

3. None of these / s71 & 1 &ff 77T [Option ID = 1396]
4. Large [Option ID = 1393]

Correct Answer :-
o Is [Option ID = 1395]

6) Select from the given Venn Diagrams the one which represent the relation between "Literates,
Lawyers and Politicians" as exists in the real world.

& 71w 37 3@t F F Fler 71 aEAfdF g F sgar "R, e R At & fiT F IREIRE gEaer B



& v F guar ¥

T ® I
" @ @O

[Question ID = 880]

1. D [Option ID = 3740]
2. B [Option ID = 3738]
3. A [Option ID = 3737]
4. C [Option ID = 3739]

Correct Answer :-
e C [Option ID = 3739]

7) Arrange the given words in a meaningful sequence that conforms to the observations in the real
world.
[1.Surgery 2.Admitted 3.Injury 4.Ambulance ]

v T eree Y v FEHOT FoT F worrd S Y aFATAF gferan F reqerat ¥ A Grar g |
[1.7R 2,37l 3.919a 4.7 q0i¥ ]

[Question ID = 300]

1.4 2 3 1 [Option ID = 1420]
2.421 3 [Option ID = 1419]
3.3 421 [Option ID = 1418]
4.4 312 [Option ID = 1417]

Correct Answer :-
e 3421 [Option ID = 1418]

8) A clock develops a problem because of which it loses 16 minutes per 24 hours. The clock was set
right on 24th July at 9:00 PM. What will be the true time when the clock shows the time as 2:00 PM
on 28th July?

TF U3 F AT 395 A g8 @ 97 i 24 €T # 16 Free NS g Sl B e 24 TS P 3@ g B 7@ w71
9:00 PM WX ¥ FX& BIS T ST aY 28 FelTS I aFcias W 47 81 T8T g1en o1 A& ot WA 2:00 PM Far W&
&

[Question ID = 298]

1. 4:20 PM [Option ID = 1412]
2. 2:40 PM [Option ID = 1410]
3. 3:00 PM [Option ID = 1411]
4. 1:40PM [Option ID = 1409]

Correct Answer :-
* 3:00 PM [Option ID = 1411]



9) A mathematical operator @ means dividing a number by 2 and then subtracting 2 from the result.
If @(@(x))=13 then what is the sum of digits of x?

T AT HTIET @ FT Ao FHA) A7 F & F fFsnford #3739 ¥ & ge=m gt §| I @(@(x))=13 g ar x
& 311 FT AT The=TT Qom?

[Question ID = 304]

1. 1 [Option ID = 1433]
2. 10 [Option ID = 1436]
3. 8 [Option ID = 1435]
4. 6 [Option ID = 1434]

Correct Answer :-
e 10 [Option ID = 1436]

10) A large cube is coloured on two consecutive surfaces and then broken into 125 smaller identical
cubes. How many of these smaller cubes will not have colour on them at all?

U 93 & T 1 & T ET AAE! FI Tl & 91g 39 125 T S O el & s I Sf1eit & ot aare 6 g1 oie uai 7
# fara=t 9X QT A€ warem?

[Question ID = 296]

1. 80 [Option ID = 1402]
2. 102 [Option ID = 1404]
3. 64 [Option ID = 1401]
4, 96 [Option ID = 1403]

Correct Answer :-
» 80 [Option ID = 1402]

11) Alarge cube is kept on a table. If 5 cuts parallel to the surface are made on the cube without
putting one cube over the other, then in how many maximum pieces can the cube be thus broken?

Wagrmaawmwrmgarr%l 3 WAE & WA 5 IR 38 O F 37 A A AW Y TF o HY gk &
39T AT TWT AT, @Y 910 Y 5F 92 b 1 HOAFIH fFaa o1 ga) & QST o1 TFhar &2

[Question ID = 307]

1. 12 [Option ID = 1445]
2. 18 [Option ID = 1447]
3. 16 [Option ID = 1446]
4. 27 [Option ID = 1448]

Correct Answer :-
o 18 [Option ID = 1447]

12) Five friends A, B, C, D and E have different weights except B and D who have equal weights. B is
heavier than E but is not as heavy as C. Who is the lightest of them all?



9= @&l A, B, C, D 31X E & T91eT 3797 37197 & RAarT B 31X D & a1 a9t §AT §| B, E ¥ @Y asleleR & A C
¥ TordaT aotelt AT | 519 & WaQ FH ToleleR HieT &2

[Question ID = 313]

1. Both B& D / B Tg D g+t [Option ID = 1471]

2. E [Option ID = 1470]

3. A [Option ID = 1469]

4, Cannont be detrmined / a3 =TgI X Hehl [Option ID = 1472]

Correct Answer :-
« Cannont be detrmined / T3 sTgT & Tehd [Option ID = 1472]

13) Find the next term of the given series.
& Y H@HT FT 3T IE AT FY|

[2, 3,6, 13, 28, ]

[Question ID = 302]

1. 62 [Option ID = 1428]
2. 59 [Option ID = 1427]
3. 53 [Option ID = 1426]
4. 47 [Option ID = 1425]

Correct Answer :-
e 59 [Option ID = 1427]

14) Find the Odd One Out.
T Ao g |
[Question ID = 295]

1. Hospital / 37&9dTrer [Option ID = 1397]

2. Playground / @ef &7 #HgreT [Option ID = 1398]
3. Laboratory / 9aerermelr [Option ID = 1399]

4. Library / g&deprerd [Option ID = 1400]

Correct Answer :-
» Hospital / 3/&qdrer [Option ID = 1397]

15) Find the Odd One Out.
I RAFed I |
[Question ID = 303]

1. Television / Telifaste [Option ID = 1432]
2. Music player / #7gf3ieh Teia) [Option ID = 1431]



3. Radio / 33T [Option ID = 1430]
4. Newspaper / §ARYST [Option ID = 1429]

Correct Answer :-
» Newspaper / GARYST [Option ID = 1429]

16) Look at the given Venn Diagram carefully and select from the given option the one which
represent the group of people who are not businessmen but are healthy and married.

few 1T 3e Iy FY et 3@ 3R v 7w el F F 37 T F A S A9 A TE § HIR FIEY AR andrerer
gl

s \\-,_ OGrraduntes
E Bl AT s
Healthy - e R
FaaFel RGN
™, .
A C N
I\
F( i l X
E. K |
g~ 2
o M Mayricd
%}ﬁ;}i\‘lﬂﬁhllh n — Lo Pt ::,rd'[

[Question ID = 879]

1. C + D [Option ID = 3736]
2.1+ J [Option ID = 3733]

3. G + H + K [Option ID = 3734]
4. E + F [Option ID = 3735]

Correct Answer :-
e C+ D [Option ID = 3736]

17) Pointing to a lady's photograph, Shambhu said "Her son is the only grandson of my mother".
How is the lady's husband related to Shambhu's only sister?

Uk AT I TEER AT I FUART FI §T, A3 A Fgl, "SHhT 9T AL AT HT THAT Gl §" | AT H7 9fey, A3 A
THATT 964 ¥ 8 Fa a2

[Question ID = 309]

1. Data Insufficient / 37931 STT=TeRiT [Option ID = 1456]
2. Brother in Law / gaxX [Option ID = 1454]

3. Brother / #11$ [Option ID = 1453]

4. Uncle / =m=T [Option ID = 1455]

Correct Answer :-
« Brother in Law / ¢aX [Option ID = 1454]



If "BLACK" is coded as "DNCEM" then how is "GREEN" coded?

fg "BLACK" %! "DNCEM" 13 {1 S1dT § @Y "GREEN" T #13 T gem?
[Question ID = 306]

1. ITGHQ [Option ID = 1441]
2. ITGHP [Option ID = 1443]
3. ITGHHP [Option ID = 1444]
4. ITGGP [Option ID = 1442]

Correct Answer :-
o ITGGP [Option ID = 1442]

19) The problem figure consists of five figures A to E. Look at the problem figure carefully and then
select from the given options the figure that comes next in the series.

geeT AR Y si@e A ¥ E & R ¥ | 59 awdR Y oA § 4@ a1 Rent 1 @ 4 F ¥ 39 TER S G Y siwen
T 39TAT UG g1 |

I [
FAREARP:
A B C B : .
[Question ID = 877]

1. [Option ID = 3727]

4

2. | [Option ID = 3728]
o |

3. E [Option ID = 3725]

4, [Option ID = 3726]

Correct Answer :-

¢ ————0q:I [Option ID = 3728]

20) A piece of paper is first folded as shown in the figure and then holes are punched into it. How
does the paper look like when unfolded?

TF FETS & ¢H3 Y GAT 1T TOF F AT 11 ¢ A BT 3909 32 7 o § | @reat w1 swmerer dar fegdomm?



[Question ID = 878]

1. .-' ': [Option ID = 3730]
y bz [Option ID = 3732]
3. L= E ' -: "-. [Option ID = 3731]
4. Ls .- -: :. [Option ID = 3729]

Correct Answer :-

. ' *- - [Option ID = 3729]

Topic:- UPPCL_Feb18 JETE_Set01_GH

1) IYAFA NI F AR T FT Ical & |

FATIR 99 T HEER, FATIRT 9 IR T G2 ¢, et Jeaa: awls ueard, veeifa, da-3e, safddaca,
Rrsrae seanfe; See R avd #erer WX S gt 81 HATIR 99 HEUR & /et 7 Agcaqol T 1@ § | FHERYT
wrr: 3fae g1 € Afher $o gAFER 7 greafesd, aiftis, Aide va oA st gid €)1 srftsat gEmaRes s
st A 3 FuE R W S @1 &) g g A GAERYS 59 §.9, F71 'g A verer 33w 1 qfoew
HET o SATEROT ) AFeaqor Tstetfarel AR FATTSF GeaAisit & Faaa Fa & AT 37 A6 & Wog@ T4 | 9
R saem#m#mﬁmamﬂmgmm

¥.) AR 99, FATERT W 3R 0F gl
[Question ID = 350]

1. =grEaTeT [Option ID = 1619]
2. YT [Option ID = 1617]

3. gedfad [Option ID = 1623]
4. Yep1R0aT [Option ID = 1621]

Correct Answer :-
o YahI?AeT [Option ID = 1621]

2) 3UYFA AGHIT F HTAR To&A FT Sl & |

FATIR 99 AT FEAR, FATIRY T AR TF yawrr ¢, forasd geaa: awls gead, reeifa, da-%e, safdad,
Rrarae seafe SR avd Ferer w o gt §1 FATER 99 §9R & Wi 7 Ageaqul T 1@ § | FHERYE
wr: 3 81 € AfheT o wAMER o7 aeaifes, g, A1fie v oA ot i 81 rfEay aRERTT T
smarat 3 i FuEi vt o Ffeea B 81 W@ vEe Aa AR 59 §.9, 1 'S AT v B3Er §) Jfavw
H o FAHTLROT Y AFeaYUr T faret AR FaATforT et & sraara # & v 308 ae & woge e W afika
T sﬁ&m#mﬁmﬁﬁammmgmm



¥.) WEI IS FT 39gF o |
[Question ID = 349]

1. gAY [Option ID = 1612]

2. GATIRY T AgedT [Option ID = 1613]

3. AERT &1 39A1f3ar [Option ID = 1615]
4. 9ep1R0eT [Option ID = 1610]

Correct Answer :-
o JATRYA [Option ID = 1612]

3) '+ 9, A wlg @ a@r
[Question ID = 333]

1. 3r1fe [Option ID = 1552]
2. guT [Option ID = 1548]
3. fa@st [Option ID = 1550]
4. 907 [Option ID = 1546]

Correct Answer :-
« f@et [Option ID = 1550]

4) 'TIFAR' # Hlaar TAT 82
[Question ID = 337]

1. dcqey |A™ [Option ID = 1567]
2. FHAYRY A [Option ID = 1562]
3. ¢deq HATH [Option ID = 1565]

4, ag-qﬂ% A [Option ID = 1564]

Correct Answer :-
o dcIeY FHH [Option ID = 1567]

5) fw T RAFeal A ¥ desia eUusg FT TIA |
[Question ID = 345]

1. fatrar [Option ID = 1598]
2. gdd [Option ID = 1596]
3. 23 [Option ID = 1600]
4, g4Y [Option ID = 1594]

Correct Answer :-
« 4T [Option ID = 1594]

6) T arv arey & YT IHAFR F A F 974, {u 71w RAavedt & F HY |



39 U Ave & el EAdn],
F9 oR Aeg & 37T @ B

[Question ID = 346]

1. 2o [Option ID = 1605]
2. TH [Option ID = 1601]
3. 39AT [Option ID = 1603]
4. 39« [Option ID = 1608]

Correct Answer :-
o JHA [Option ID = 1601]

7) Rwafaf@a oasg & ggarH oreg &1 994, T v Fwenl # & Y|

GIGIC]
[Question ID = 341]

1. gsT [Option ID = 1578]
2. 310Tg [Option ID = 1583]
3. dfsd [Option ID = 1581]
4, ggig [Option ID = 1579]

Correct Answer :-
» geeh{ [Option ID = 1578]

8) farfaf@a orsg & fadA ereg 1 99+, T 1w Reveat & & FY|

HchR
[Question ID = 342]

1. foRTex [Option ID = 1587]
2. 39ATT [Option ID = 1589]
3. foR&RR [Option ID = 1585]
4, 3981 [Option ID = 1591]

Correct Answer :-

o fORTFR [Option ID = 1585]

9) Frfafa fqeray 1 3 F |

el HIAT
[Question ID = 334]

1. f&F#Hd sm=T [Option ID = 1557]

2. 9T &= [Option ID = 1555]

3. 99gY faeeT =T [Option ID = 1553]
4, garcarfed &= [Option ID = 1559]



Correct Answer :-
* 99 fa=eT T [Option ID = 1553]

10) Fa T &) T3l &Y F1 AAIfY AT S1aT &2 [Question ID = 338]

1. 8/&F T [Option ID = 1569]
2. #ifea T [Option ID = 1576]
3. 4R 1 [Option ID = 1571]
4, 9] T [Option ID = 1574]

Correct Answer :-
+ IR & [Option ID = 1571]



